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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271477
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592724847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series.

Z,AY,?, X,E,W, G
Options:

1. = B
2.v(
3.=D
4 % E

Question Number : 1 Question Id : 54592724847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Aol & ofca 3187 &1 AT e

ZA, Y, 7, X, E, W, G

Options:

1. = B
2. v C
3. = D
4. = E

Question Number : 2 Question |d : 54592724848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out the next term.

J100, L.144, N196, P256,?

Options:

1. = T361
2. % 5225
3.v R324
4. = R289

Question Number : 2 Question Id : 54592724848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITelT Ug ATT h |

J100, L144, N196, P256,7

Options:

1. = T361
2. = 35225
3. v R324
4. = R289

Question Number : 3 Question Id : 54592724849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the word ‘SERIES’ how many pairs of words have as many
letter as in English alphabet?

Options:

1. = One
2. TWo
3. = Three
4, v None



Question Number : 3 Question Id : 54592724849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SERIES' eleg & 37T auTaATer & frder 0O S & & Toreek
ST 3ot & e & Toiger 313 gufATer & 379 & 37 et
HET A?

1. Tk
2. % &
3. = dreT
4. v FIE TR

Question Number : 4 Question Id : 54592724850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Africa

2. v New Zealand
3. = Asia

4. = Europe

Question Number : 4 Question Id : 54592724850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fau 77 fawrenl & O favw a9 HT

1. = 3TIHIeRT
2.@”‘?&“\_:'?]?1:_5'
3. = UfET
4, » JAT

O,

Question Number : 5 Question Id : 54592724851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In each of the following questions, certain pairs of words are
given, out of which the words in all pairs except one, bear a
certain common relationship. Choose the pair in which the
words are differently related.

Options:

1. = Circle : Arc
2. = Train : Berth
3. = Car : Steering
4. v Pen: Paper

Question Number : 5 Question Id : 54592724851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fereafafEd ucdsh weal #, o AfRud oee fev v &, o
T Uk hI BISHL GHT SN2 H osg Uk ATeTT AT 9y &
58 SET A gt S ey sreRT aiE & d@efua

Options:

1. » @fhel : =T
2. % gof 1 §Y

3. ® HT : TN
4, v Uef ;: 9

Question Number : 6 Question Id : 54592724852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1.+ FI: KI
2. » BE : AX
3.« HK : PM
4. %« KN : TQ




Question Number : 6 Question Id : 54592724852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a0 faeredl # @ fawHw S 0]

Options:

1. v Fl : KI

2. = BE : AX
3. » HK : PM
4. = KN : TQ

Question Number : 7 Question Id : 54592724853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

Madhya Pradesh : Jabalpur :: Uttar Pradesh :

Options:

1. v Prayagraj
2. » Lucknow
3. = Gaziabad
4. % Delhi

Question Number : 7 Question Id : 54592724853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT wed A U a0 [@redl # O gFeieud
IET/LASS/TEAT <h g’i'oﬁul

HET YL ST o Secll e
Options:

1. v TATIRTA

2. % ol&dS



4, = ool

Question Number : 8 Question Id : 54592724854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

FEH : MLO : : ONQ :
Options:

1. » PTV
2.« MTV
3. % TVS
4. v VUX

Question Number : 8 Question Id : 54592724854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farTe@T wea A QY 91v [¥eredl & O Traleyd
/AT AETT Tl gﬁvl

FEH: MLO: : ONQ:

Options:

1. = PTV
2. = MTV
3. = TVS
4. v VUX

Question Number : 9 Question Id : 54592724855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related
letter/word/number from the given alternatives.

TJ : LF =
Options:

1.+ PH:VK
2. TL : VK
3.« XM : LG
4, » NK: DC

Question Number : 9 Question Id : 54592724855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frrfe@a uea &, U a0 Jeredl A @ Tafaa 3787 / 9% /
HEIT *1 glAT|

Td : LF =
Options:

1. v PH : VK
2. = TL : VK
3. = XM : LG
4. = NK : DC

Question Number : 10 Question Id : 54592724856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if PRINCE = 60 and ACTOR = 50,
then PRODUCER =7

Options:

1. = 90
2. v 80



3. %110
4. % 120

Question Number : 10 Question Id : 54592724856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush fafesred e #mT A, Iie PRINCE = 60 31K ACTOR =
50, @ PRODUCER =7

Options:

1. = 80
2. v 80
3. = 110
4. = 120

Question Number : 11 Question Id : 54592724857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 'loc pik tom’ means 'Dancing was
Innovating, 'tom jab nim’ means 'Painting was great’ and 'pik
okl ja’' means 'Dancing or Painting’.

Which of the following means 'great’ in that code language?

Options:

1. v nim
2. % loc
3. =% jab
4, = tom

Question Number : 11 Question Id : 54592724857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U fATRET Fe AT A, 'loc pik tom' T 37T & 'Dancing was
Innovating', 'tom jab nim' T 3T & 'Painting was great' 3i¥
'pik oki jab' T 31T § 'Dancing or Painting'.

3 S AN # Aealeli@a # & Sle-ar “great’ &7 317 7

Options:

1. v nim
2. = loc
3. = jab
4. = tom

Question Number : 12 Question Id : 54592724858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

IGNTAC
123456

Options:

1.4,6,3,5,2,1
2.v5,6,4,1, 3, 2
3.24,06,5,2,3,1
4.%5,2,3,1,6,4

Question Number : 12 Question Id : 54592724858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafafaa wear &, 3&RT #1 v @ag far o &, g8 1,
2,3, 4, 5 3t 6 1 Rw 717 &, 37 g3t & Al gl
IR [@Feq U 710 & §@IT3 & 39 IS T I

iR 378 & 3e[AN SYAEAd &I, Uk HTF 2Ieg T |

|G NTAC
123456

Options:

1. = 4,6, 3, 5, 2, 1
2.v 5,6, 4,1, 3, 2
3. = 4,6,5, 2 3,1
4. = 5, 2,3, 1,6, 4

Question Number : 13 Question Id : 54592724859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SiX executives face each other around a circular table to
discuss a project.

The CEO sits two places to the left of the HOD. The General
Manager and Manager sit opposite each other. The Team
leader sits to the immediate right of the General Manager.
Who sits to the immediate right of the Developer?

Options:

1. » Manager

2. v General Manager.
3. = HOD

4. = CEO

Question Number : 13 Question Id : 54592724859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



BE USRI T IRIASTAT W T el & ol T e ohi
A & TRT 3T Th GEL F HE 7E Hlh 35 g

CEO, HOD & &8 3 g@y ¥lel W &1 g1 #Agveyes 3R
U Uk g@Y & [Awld dad &1 A WSy, AgTIEds &
ferredd TI0 Saar & Baaw (Ahas)s Aeearm g 3k

lel SodT &7

Options:

1. = JaUh
2. v FAETISYsh
3. » HOD
4. = CEO

Question Number : 14 Question Id : 54592724860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five Students. Vishal is taller than Mohan, but not as
tall as Suraj. Sumit is taller than Dinesh, but shorter than
Mohan. Who is the tallest in the group?

Options:

1. v Surad]
2. % Sumit
3. = Dinesh
4. = Mohan

Question Number : 14 Question Id : 54592724860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U BET 6 S| e, Alge & o &, efshe g3 o
ofell ol &1 GiAd, feaier @ ofar &, ofeher Alger & oler &1 Tqg
H Oed o§T i &7

Options:

1. v g1
2. » gAd
3. = faater
4, = HIgd

Question Number : 15 Question Id : 54592724861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pandya and Bumrah are ranked 7th and 11th respectively
from the top in a class of 31 students. What will be their
respective ranks from the bottom in the class?

Options:

1. » 26th and 22nd
2. » 20th and 24th
3. = 24th and 20th
4. v 25th and 21st

Question Number : 15 Question Id : 54592724861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

31 Taeznfeat 1 vah et A UsAT R gANE Hr oY & shAen
7ar 3T 1197 Ao &1 F&T H = & ST hT shART: FAT A0
gIair?

Options:

1. = 26 @r 3 22 ar
2. = 20 @ 3T 24 a1
3. % 24 @ 3T 20 aT




4. v 25 41 3T 21 ar

Question Number : 16 Question Id : 54592724862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A B, C, D, E and F are going on a trip.

(11) There are two Anchor, two Engineers, one Beautician and
one Poet in the group.

(1i1) The Beautician F is married to C who is an Anchor.

(iv) The Poet is married to E who is of the same profession as
that of A.

(V) F, D, E, C are two married couples and nobody in the
group has same profession.

(v1) A 1s brother of D.

Which of the following is a pair of Engineer?

Options:

1.» Fand A
2.» Cand A
3.vEand A
4. = Eand F

Question Number : 16 Question Id : 54592724862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A, B, C D, E3RF IEm W T w® &l

(i) ¥Hg H a1 Uy, a1 ST, Uk P 3T T *id &
(ili) sgEIRIGeT F =T eamdy C & gIdT & S Ush Ul &

(iv) T E & Raigad & S A & AT 99 &7 &I

(v) F, D, E, C ar faarfgd sis & 3 dAg A AT 1 o1 ger
AT T8l gl

(vi) A, D FT #15 &

fFTToT&ad H & il &7 Teh ST Sllfadd Sl §7?

Options:

1. = F 3T A
2. = C 3T A
3. v E 3R A
4. = E 3W F

Question Number : 17 Question Id : 54592724863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Pointing to a photograph, Rahul said, “He is the father of my
father’s grandson, But that grandson 1s not my son” wWhose
photograph was this?

Options:

1. » Rahul Himself

2. » Rahul’s Sister

3. v Rahul’s Brother

4. » Rahul’s Brother in law

Question Number : 17 Question Id : 54592724863 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Teh JEAN ahl 3T ST hid gv, g o Fel, 'gg A Tar &
i T 0T &, difchel I8 OaT A7 8T @1gl g I8 aear
IETEINE LI

Options:

1. = g IS
2.&1‘@%3@?
3.&?1‘@3[@34@

4. = Tge K SArSATAETET

Question Number : 18 Question Id : 54592724864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question below, there are two statements followed by
three conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
I. All men are prisoners.
II. No prisoners are educated.

Conclusions:

I. All prisoners are educated.

II. No men are educated.

III. Some educated are prisoners.

Options:

1. = If only conclusion I is true
2. v If only conclusion II is true



3. = If conclusion I and II follow.
4, = If conclusion I and III follow.

Question Number : 18 Question Id : 54592724864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dt 8T 90 dedd H gl FUe ’N 3TH §1g dlel [oshy BT v
&1 3Tl &T 9T FUT kI eI AT & Hol &r T gaard
dzat @ fAiear udia g1 &l @it faswst &1 ufer R a=
Fifoe fr fow arv foshst & @ @l @1 ahdeard 59 @ 3feperor
AT &, I8 FAAT T2T FS & gl

h o]
. T 3TEHAT, FET &
II. hIg FHar A8 T 8T &

GRS H

. g7 ey, fafara g

I. S 3meY, RfET 78t &
Il Fo f&féra, war g

Options:

1. = i Fad vFy | T &

2. v I shad oSk || OcT &
3. = gfg forspy | 3T Il T §
4. = I ey | 3T |l 9T §

Question Number : 19 Question Id : 54592724865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



For the Assertion (A) and Reason (R) given below, choose the
correct alternative from the following:

Assertion (A): Barometers are used to predict short term
weather change.
Reason (R): Barometer measures air pressure.

Options:
1. v Both (A) and (R) are true and (R) is the correct
explanation of (A)

2. = Both (A) and (R) are true, but (R) is not the correct
explanation of (A)

3. = {A) is true, but (R) is false
4. = {A) 1s false, but (R) 1s true

Question Number : 19 Question Id : 54592724865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A feu e sfeRya (A) 3 FROT (B) & fov, AFafei@a
;& Fear faemed o

TP (A): SUAICT T 3T HeUehlloldh ANTH TRadel hl
SISO el & ToIv TR ST &I

FROT (R): SUHCT &aT & ga1d sl ATYAT gl

1. v gt (A) 37 (R) &7 & 3T (R), (A) T @ar faador
FTAT &

2. = arr (A) 3T (R) @7 §, offerad (R), (A) &1 @ar @agor
T8l T &

3. = (A) T §, offehet (R) TelcT §

4. % (A) eI &, offehet (R) T &




Question Number : 20 Question Id : 54592724866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series.

7,11, 18, 31,7

Options:

1. = 48
2. v 50
3. % 52
4. % 65

Question Number : 20 Question Id : 54592724866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feresTfel =T Szl 1 1+

7,11, 18, 31, 7

Options:

1. = 48
2. v 56
3. = 82
4. = 65

Mental Ability2

Group Number : 2

Group Id: 5459271232
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0

Minimum Instruction Time: 0
Mental Ability?2

Section Id : 5459271232

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271478
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592724867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series.

2,10, 34, 105, 322

Options:

1.~ 105
2. % 322
3.= 34
4. % 10

Question Number : 21 Question Id : 54592724867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& IS AW H AT UG AT

2, 10, 34, 105, 322

Options:

1. ¢ 105
2. % 322



3. = 34
4. = 10

Question Number : 22 Question Id : 54592724868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1.+11
2. % 21
3. = 39
4. % 45

Question Number : 22 Question Id : 54592724868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T v Jwreur & O fHed H{amﬁgﬁl

Options:

1. ¢ 11
2. % 21
3. = 39
4. = 45

Question Number : 23 Question Id : 54592724869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following

questions.
Options:

1. =19 _29
2. 67_73
3.%41 _43

4.v74 _88



Question Number : 23 Question Id : 54592724869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAraTal@T g ueaT A [OvA &7 drel oA / THg I Jfv
|

Options:
1. = 19 29
2. = 67 73

3.+ 41 _ 43
4. v 74 _ 88

Question Number : 24 Question Id : 54592724870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose or find odd number pair.

Options:

1.« 13:7:216
2.+ 17:10: 343
3.%19:11:512
4.+15:10: 100

Question Number : 24 Question Id : 54592724870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaYH H&T arell SASI/EHG T Ihel HITIT|

Options:

1. = 13 : 7 : 216
2. % 17 : 10 : 343
3. % 19 : 11 : 512
4. v 15 : 10 : 100

Question Number : 25 Question Id : 54592724871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related
letter/word/number from the given alternatives.

(121, 169, 225)

Options:

1. = (441, 529, 576)
2. = (441,484,625)

3. = (441, 529, 676)
4. v (441, 529, 625)

Question Number : 25 Question Id : 54592724871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

(121, 169, 225)

Options:

1. = (441, 529, 576)
2.« (441,484,625)

3. = (441, 529, 676)
4. v (441, 529, 625)

Question Number : 26 Question Id : 54592724872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing number in the given figures:

D0 0 @
AR ARS ERN

Options:

1. = 35
2.v 37
3. % 45
4. % 47

Question Number : 26 Question Id : 54592724872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oI JEAT T AT R

Options:

1. = 35
2. v 37
3. = 45
4. = 47

Question Number : 27 Question Id : 54592724873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If +* stands for multiplication, X’ stands for division, -’ stands
for addition and ‘=’ stands for subtraction, what is the answer
for the following equation?

20-5+18x(3+2)=7
Options:

1. » 20
2. % 18
3. = 108
4. v 22

Question Number : 27 Question Id : 54592724873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ffe +' T 3T O E, X K1 3T AT E, - T 37 Sl §
AT+ FT 3T TereT g, et fad THEROT $T 3cal 27

20-5+ 18 x (3 +2) =7
Options:

1. = 20
2. = 18
3. = 108
4., v 22

Question Number : 28 Question Id : 54592724874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
I=H>C>N<E=S
Conclusions:

I.3=€

II.C=S8S

Options:

1. = Neither conclusion I nor conclusion II is true
2. » Either conclusion I or II is true

3. = Only conclusion II is true

4. v Only conclusion I is true

Question Number : 28 Question Id : 54592724874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R RU a0 uesT A, Ueh FUT & &1 ar sy g1 3w fow
AT FUT H T ATl &, ol &7 T 3H JIT W AT Tzt &
T TR a8 3N TR aa N F Ru v saa & &
shieT @7 forshd TTieheh T & 3THELOT HIT

-
I=H>C=N=<E=S§

ILI=C
I.C=58

Options:

1. = o ar forsd | 3iX &1 & forsshd || @7 &



2.« grarfasey | ar ll T &
3. = hael oy || O &

4. v o fashy | T §

Question Number : 29 Question Id : 54592724875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given responses.

+ 10
36497
2 |2 |2

Options:

1.+144
2. % 33
3. % 100
4. % 64

th

Question Number : 29 Question Id : 54592724875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafaf@d wea A, fev arv ufafsarst & & o dEar

TeT Fe|

+ 10
36497
2 |2 |2

Options:

1. v 144
2. = b5
3. = 100

th




4. = 64

Question Number : 30 Question Id : 54592724876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Monkey, Eagle and Mammal?

Options:

e
..QC

3. %

4. =

Question Number : 30 Question Id : 54592724876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fafe@a # @ 9 a1 ™ 553, 97 3 TgaurT & 89
oy &7 yafafdcg sar &2

Options:




.. dDo
,.QO0

4- w
Question Number : 31 Question Id : 54592724877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given figure, the circle represents Chemist, rectangle
represents Police officer and pentagon represents Author.
Which set of letters represents Chemist who is Author but not
Police officer?

Options:



1. %8S
2. v ()
3.=T
4. = U

Question Number : 31 Question Id : 54592724877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Qv a0 3l A, Jod, T T Uidialidcd Iar &, 3
gfere 3ifarenT 1 ufdfafdeg wIar & 3T g=efel i@+ *

ufafafaca star &, Sl a1 3787 WRTA FT dfdferdeg il

Options:

1. = S
2. v Q
3.« T
4., « U

Question Number : 32 Question Id : 54592724878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A set a two figures forming the problem figure and four
answer figures are given.Select a answer figure which possess
the same characteristic.

Problem Figures
Options:

D ] O] |

Question Number : 32 Question Id : 54592724878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



wesl H, &l [T weet 3mpfd # 3 IR Scar-3mpfa few v g
3H 3cd] 3MPid T Tl HL A FATST T an

w9al Pl

0

Options:

A
O
®
A

Question Number : 33 Question Id : 54592724879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The second figure in the first unit of the problem figures
bears a certain relationship to the first figure. You have to
select that figure from the set of answer figures which would
come in the place of question mark (?)

Problem Figures
qu:: -”n 3 ﬁ ?
1 2 3 4
Options:

Y
A
[

3.«1°

P

Question Number : 33 Question Id : 54592724879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TR 3hic & Ugel A€ hT GEAT 3TR{d,Tgelr 3Mhld & Th
RTT HFaed AT & | 3Rl 3cc i & 8¢ § 39
3TpTT ST el LT BT ST UeeT fEel (7) & FUTe 9T 377eem|

u9a 30pfd

4] : [A]

1 2 3 A

Options:
. ;

o

A
>

3. ¢ o

Py

Question Number : 34 Question Id : 54592724880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose an appropriate figure from the four numbered figures
for the place of the questions mark (?).

Problem Figures:

Y[

(A) (B) (C) (D)

Options:

“do>

1. =

«do>

3.v

H
«-(-(o]

Question Number : 34 Question Id : 54592724880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

weel el (?) & T W 3ca AFid & T H T 3
3THf ol

U9al bl

¥E[¥]?

(A) (B8) (C) (D)




Options:

“wdo>

N
#
@

0
<
«do

R

Question Number : 35 Question Id : 54592724881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following questions, element (i1) is related to element
(1) In a particular way in four pairs of figures. Find out the
pair of figures in which the element (ii) is not related to
element (1).

Options:

o

W ]

1. = I




4 v b i

Question Number : 35 Question Id : 54592724881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFaTafEd weall #, 3MPid & IR #ET A dea (i) dca () &
Uk TAfRTT hR § e &1 3 3l SISl 1 9T Sf9m
o8 aca (i), dca () § gar9d 18T &l

Options:

S




Question Number : 36 Question Id : 54592724882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct water image from the given alternatives.

Question Figure

(]

P —

Options:

1.$aD
2.

(]
L
A

3.

1.



Question Number : 36 Question Id : 54592724882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few aTw fashedt A & el R STel UfdfaFs aTell 3hid AT
EAIE I

Wl 3THier
Ty

I

Options:

1. =

2. ¢

a
]
L
_

Question Number : 37 Question Id : 54592724883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In each of the following questions a piece of paper is folded in
the manner shown in the question figure(s). Select the figure

out of the answer choices showing the unfolded pattern after

the punches (cut).

Question Figures

Options:

Question Number : 37 Question Id : 54592724883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foaaifelT@&e qeaT & Ush FETST & gohg h TRa 3THfd H el
AT Ik & AST IR—T &1 e & FI Ted Uea i c2ife aret
3ccl fashedl # & 3THId T TheT HT

95T MphT
e \
ra 5, .‘
[ ]
Options:

Question Number : 38 Question Id : 54592724884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out which of the figure (A), (B), (C), (D) can be formed
from the pieces given in fig. (X).

Question figures

Options:

L

4 “:H

5.0 2

/

4, =

Question Number : 38 Question Id : 54592724884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(A), (B), (C), (D) # & =hlaT €T 3PN, 3MPi (X) & SRy ST
HehdlT &7

WA S

Options:

e




2. v H:”

5 o

y

4., =

Question Number : 39 Question Id : 54592724885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question an unfolded dice is given. From the
given alternatives which of the following will be opposite of 37

A
B
O
3

(%)

Options:

1.vE
2.0
3.% A
4. %1

Question Number : 39 Question Id : 54592724885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s fau v gest A, vk For I fe2T T &1 foshedt &
SEHRT AT ST for i @1 3 & ol e

w | Q| m| >

(x)

Options:

1. v E
2. » O
3. % A
4. = 1

Question Number : 40 Question Id : 54592724886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many times will a solid cube of 4 ¢cm side be cut to
obtain smaller cubes of 2 cm side?

Options:

1. % 2
2.v 3
3.%5
4, %7

Question Number : 40 Question Id : 54592724886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 QAT oIl & BIC Hel A e hlal & folw 4 QAT o HT
Tk 3T o ohdaT & hiel SITII?

Options:




General Awarenessi

Group Number : 3
Group Id: 5459271233
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 5459271233

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271479
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592724887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Tamasha is a folk-dance of the state of

Options:

1. = Rajasthan



2. v Maharashtra
3. » Madhya Pradesh
4. = Chhattisgarh

Question Number : 41 Question Id : 54592724887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THTRT 6T T FT - 87

Options:

1. = JTSTEATA

2. v ASNISE
3. % FET Yol

4. % BTG

Question Number : 42 Question Id : 54592724888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following regional music is popular in Uttar
pradesh?

Options:

1. *= Only Laman and Horl
2. v Only Kajri and Sohar

3. » Only Laman and Powda
4. = Only Hori and Powada

Question Number : 42 Question Id : 54592724888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafe@a A & Fiaar &3 g 3cal U H dhnT &7

Options:

1. % hael ofHe 31T &I
2. v hadl ol 3T AR
3. % had ofHe 3T grgsr




4. = Fgel aNT 3T 9EsET

Question Number : 43 Question Id : 54592724889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the incorrect statement about the famous festival
“Tallikattu”.

Options:

1. = It is organized in Tamil Nadu
2. = It is a sort of a bull-fight
3. » It is a part of the Pongal celebrations

4. v Presently it has been banned after Supreme Court
intervention

Question Number : 43 Question Id : 54592724889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS 3089 "Seellshg & TR H I FYel ol

Options:

1. » Ig dAEAg A ARTST fRar sirar &

2. * I§ U g @l TSI =l oI55 &

3. = & Yol ARG &l Ueh fg&dr g

4. v gIATT H Talta e & 68T & §I¢ 39 W
UTaeeT o9 ear aar §

Question Number : 44 Question Id : 54592724890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the following monuments choose the odd one out:

Options:

1. v Sikandra Fort

2. » Mehrangarh Fort

3. * Hawa Mahal

4. = City Palace, Udaipur




Question Number : 44 Question Id : 54592724890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d ARl 7 @ fava 1 gav)

1. v T8heIT &1 Topell

2. % AgUAIG FT Toholl

3. = @4l Hgol

4. « [0 Yolw, 35

Question Number : 45 Question Id : 54592724891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the headquarters of the Reserve Bank of
India permanently moved to Mumbai?

Options:

1. = 1935
2. % 1936
3. v 1937
4. = 1938

Question Number : 45 Question Id : 54592724891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Rod dF T Ao ffg a¥ Tl &9 @ #os A
TATATINT TohaT T 277

Options:

1. = 1935
2. = 1936
3. v 1937
4, = 1938

Question Number : 46 Question Id : 54592724892 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Consider the following economic activities and identify the
ones that belong to the secondary sector?

Options:

1. v Weaving cloth and making sugar
2. » Mining and dairy

3. » Transport and mining

4. = Making furniture and Horticulture

Question Number : 46 Question Id : 54592724892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeTTel g 3T afaafe @ dar & 3K 3« afafataat
T TEET S IEF w F Rgdas g e & gafaa §7

Options:
1. v FUST AT 3T el TAR FLaA
2. % Walal 3T 3T

3. » gR@ge 3T el
4. « oAy Sarar 3T g™

Question Number : 47 Question Id : 54592724893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following articles are kept in the Fair Price
Shops of India?

Options:

1. v Only Rice and Kerosene

2. » Only Kerosene and Tea leaves
3. » Only Tea leaves and Rice

4. = Rice, Kerosene and Tea leaves

Question Number : 47 Question Id : 54592724893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foraifeif@d A @ Hle & aFqv 9RA & 3RIT &T arell Zehrar
& @& St £7

1.%3%(:1@1 grael T TAET 71 O

2. % haol TACAT T dof 3T I Tear

3. = hael OIT Ycdr A g
4. = dAm@er , TAE &1 der 3 I dedr

Question Number : 48 Question Id : 54592724894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following technological applications do not use
the phenomenon of total internal reflection?

Options:

1. = Diamonds

2. = Periscopes

3. = Optical fibres

4. v Car wind-shields

Question Number : 48 Question Id : 54592724894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

festfali@d & & sl @1 WefARg sraquater o TR
QT T 3UANT Tal Fdl &7

Options:

1. = BRT

2. = INERIT

3. » UL Oq

4. v IMET HT A3-2Mes




Question Number : 49 Question Id : 54592724895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the following, choose the sources of Vitamin C?

Options:

1. = Wheat, Liver, Rice

2. v Guava, Lemon, Green Chilli
3. = Liver, Egg, Fish

4. = Papaya, Mango, Carrot

Question Number : 49 Question Id : 54592724895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pl # @ e @ & @ T

Options:

1. = H’E', I, T

2. Jm,m%
3. * ¥hd, 33, AGAl
4. = qUIEr, 3TH, I

Question Number : 50 Question Id : 54592724896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the main function of phloem in
plants?

Options:

1. = They absorb water and minerals from the soil

2. v They transport food materials, usually from leaves to
other parts of the plant

3. » They convert the sunlight and water into glucose
4. = They {ix nitrogen obtained from the soil

Question Number : 50 Question Id : 54592724896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & dlal A v FT J&T FF Fid AT &7




Options:

1. = 3 TAET & grair 3R @ferst 3@eisa = &

2. v @ #liofel &I afcadl @ 9 & 307 At # qg9d §
3. » & gF & YT 3T Uil FT Tl H Tgold &

4. » F THE T UTTT ATSerelel 1 foade #a &

Question Number : 51 Question Id : 54592724897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the environmental processes where carbon-di-oxide
is getting “fixed’?

Options:

1. = Respiration of human beings

2. v Marine animals making their own shells
3. = Burning of candles

4. = Melting of glaciers

Question Number : 51 Question Id : 54592724897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ggTaeoi At &r ggaa T98 & wee sEaiierass ol &
T8l 87

Options:

1.&34@@%:%3??

v AHA SId T FT Fad T &

2.
3. % AIAdcAT STellall
4. = TgAae &1 Treder

Question Number : 52 Question Id : 54592724898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pathogens can get introduced to the
environment by the human excreta?

Options:



1. = Only Coliforms and tapeworm eggs

2. = Only Salmonellae

3. = Only Tapeworm eggs and Salmonellae

4. v Coliforms, Tapeworm eggs and Salmonellae

Question Number : 52 Question Id : 54592724898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AoTHA GaRT TaealoiEd # & il & JaTslereh TATEI0T H
3T S 87

Options:

1. = Shdel HIABIA 3T BIar FiF & 373

2. = hael Hedlad

3. = g BT FH & 313 3T FeAferor

4. v PITBIH, BT FTH & 373 3T oAl

Question Number : 53 Question Id : 54592724899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The disease Arsenicosis and Fluorosis is mainly caused by:

Options:

1. v Contamination of drinking water

2. = Alr pollution
3. * Human physical contacts
4. = Bite by rabid animals

Question Number : 53 Question Id : 54592724899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATARITET 3T FAIRE 97 7T ¥9 4 *
HFIOT 8 &l

Options:

1. v diel & 9Tl ST FGFOT




2. » Gy ggNoT
3. = AT IS §9F

4, = Taf&ica STol @RI Hica

Question Number : 54 Question Id : 54592724900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Entamoeba histolytica is a (i) parasite in the (1i) of
human which causes amoebiasis.

Options:

1. = (1) Bacterial (ii) Liver

2. v (1) Protozoan (ii) Large Intestine
3. = (1) Bacterial (ii) Small Intestine
4. = (1) Protozoan (1i) Small Intestine

Question Number : 54 Question Id : 54592724900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeAET fgecifefes ads () 93eiar Ateg &7 (i)
H g0 Jra &, a8 AW gdar gl

Options:

1. = () ShamorsT (i) T

2. v (i) W= (i) g&a 374
3. = (i) SHaTUrT (i) SYEr 3T
4. = (i) NS (i) DEY 307

Question Number : 55 Question Id : 54592724901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following will come under Innate Immunity?

Options:

1. v Interferons
2. »= B-Lymphocytes



3. » T-Lymphocytes
4. = A - Lymphocytes

Question Number : 55 Question Id : 54592724901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d & @ wiear gger ufawe (Fae sagfadl) & e
3RIT?

Options:

1. v SeThild

2. » SI-GIHThIO]
3. = CT-SRRTO
4, = U-oTHIRIUT

-

Question Number : 56 Question Id : 54592724902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mark the correct statement regarding Indus river.

Options:

1. = It is not a Himalayan river

2. v A treaty was signed about the water-usage of this river in
1960

3. = A treaty was signed about the water-usage of this river in
1985

4. = It is originated from Maharashtra

Question Number : 56 Question Id : 54592724902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ey o & do # FEr FUe w1 AT w1

1. = IUE Uk [ZHATORIT 4T 1al &



2. v 1960 H =g &<y & FI-3UA9T & favr # vk Ifor W
gEdTeT fopw a0 &
3. = 1985 H =g A<y & FI-3UAT & oy # vk IfTr w
EEATETT T 90 o

4. = THHRT 3EIH AGRISE & B1ar &

Question Number : 57 Question Id : 54592724903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following pairs are both peaks of the Western
Ghats?

Options:

1. » Anal Mudi and Mahendragiri
2. » Doda Betta and Javady Hill

3. v Anai Mudi and Doda Betta

4. = Shevroy Hill and the Javadi Hill

Question Number : 57 Question Id : 54592724903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fartfe@a & @ $ia @ St afewdAr ae & @fedr g2

Options:

1. = 37aT$ HSI 3R AgE@R

2. = 18T dgr 3R Sarsr ugTsr
S@W@Wﬁﬁ@

4. = QT Ugrsr AR SEET qgEr

Question Number : 58 Question Id : 54592724904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which ocean does the Oyashio current appear?

Options:

1. = Atlantic Ocean



2. % Arctic Ocean
3. v Pacific Ocean
4. = Indian Ocean

Question Number : 58 Question Id : 54592724904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIR™AT STeraT fhd ARERNR # Sgdr &7

Options:

1. = 3colllceh AR
2. % 3Tehiceh AGMNTIR
3. v Wed ASNTER
4. = T3g AR

Question Number : 59 Question Id : 54592724905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are the factors affecting soil
formation?

Options:

1. = Only time and climate

2. » Only climate and micro-organism
3. # Only time and Micro-organism

4. v Time, Climate and micro - organism

Question Number : 59 Question Id : 54592724905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaf@d # & Aar AT 1 wsiidd T arel R Hid-
Hld &7

Options:

1. = ohagel JAT 3T STy
2. % hddl STerary AR gEA S




3. % shael AT 3N F&EA S
4. v GHY, SToay 3R gEA S

Question Number : 60 Question Id : 54592724906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If you are at a place, which has high temperature, (above
25°C) and high humidity with annual rainfall above 100 cm,
then which of the following crops can you grow?

Options:

1. = Cotton
2. v Rice

3. = Bajra
4. = Wheat

Question Number : 60 Question Id : 54592724906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfe 3T fordT 08 T WX &, ogerr 3= duaA g, (25°C 8
e 3T 100 @AT & HTk T auT & a1y 3= el
g, dI 3T fAedTe@da # O T w8e &l 39T Thd &7

Options:

1. = U

2. v Jiddl
3. % ST

4. = A

General Awareness2

Group Number : 4
Group Id: 5459271234
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 5459271234

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271480
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592724907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is incorrect?

Options:

1. v Sri Lanka is separated from India by the Ten Degree
Channel

2. = Maldives Islands are situated to the south of the
Lakshadweep Islands
3. = Arunachal Pradesh shares its borders with Myanmar

4. = India has the third largest international land border in
the world

Question Number : 61 Question Id : 54592724907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao E&d & & i AT FUT TTold &7

Options:

1. v gF 33l el @RI Aelehl R & 37T &




2. » ATOAIT Z@IT @&TedIT gaTd HAHg & aiarr # ud §
3. = 3TBUTRIS USel FTHN o &Y 3YaT HIATE G137 il &
4. » AR T Teg # IO 998 F37 AT AT &

Question Number : 62 Question Id : 54592724908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mark the correct match of mahajanapadas of sixth century BC
with their capitals.

Options:

1. = Magadha - Kushinagara

2. v Avantl - Ujjayini
3. » Gandhara - Rajgraha
4. = Malla - Pushkalavatl

Question Number : 62 Question Id : 54592724908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT eTcIedl SHT Jd o HETSIeTUGl T 3elehl STl & T,
gl e = Rfgaa

Options:

1. = HITYT - f@ﬁ?rm-\r
2. v AT - 3oolal
3. = YR - VB

4, = Hool - guchcﬂmd“l

Question Number : 63 Question Id : 54592724909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a message of Buddhism?

Options:

1. = The world is transient and constantly changing



2. » The world is soulless and there is nothing permanent or
eternal in it

3. = Sorrow is intrinsic to human existence

4. v The entire world is animated; even stones, rocks and
water have life

Question Number : 63 Question Id : 54592724909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feAfelid H & Sl @7 sig 9H T a2 a8l &7

Options:

1. = gfar &70F & 3 oRMAR seeldl S & &

2. = TR 3 fagiel & 3R 508 Fo off TIRY 71 enead weT
J

3. » T AT 3¥dcd & AT 3ARF &

4. v 9 AN Foild STl g3 & BT oo & YceRl, gl
AT gt & o Shae &

Question Number : 64 Question Id : 54592724910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which present day country was Al-Biruni, the famous
traveler to India, born?

Options:

1. = Morocco
2. = Iran
3. v Uzbekistan

4. = Egypt

Question Number : 64 Question Id : 54592724910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T & UEE AT, 37e-T%6T T Sled aaHTeT & ohg g7 &

Options:

1. % HIFD
2. = 0ol

3. v 3alredrd

4. = g

Question Number : 65 Question Id : 54592724911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the women social
reformers of India is incorrect?

Options:

1. » Pandita Ramabai founded a widows’ home at Poona to
provide shelter to widows who had been treated badly by
their husbands’ relatives.

2. = Tarabal Shinde published a book, Stripurushtulna, (A
Comparison between Women and Men), criticising the social
differences between men and women.

3. = Begum Rokeya Sakhawat Hossain started schools for
Muslim girls in Patna and Calcutta.

4. v Savitribai Phule worked for the upliftment of the ruined
Indian handicraft-industries in Bihar.

Question Number : 65 Question Id : 54592724911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T AT TATST GURERT o I A faeafelf@d & @ Fla

AT el ol &7

Options:




1. » UfSAr TAETE o faUansit & 38 vere Hila & fow gar
H T fauansft o a3 &1 TA1941 Fr, Tolere gfad & Rederi
GART 3ofeh 1Y qU TGN §HT 2T

2.« AmmETg RIS o g% 3 A3t F S ATATSIR AqHal
T FHTelTaAT I gv, T I8 Jolell, (T FrdReter foedTet
qH TS Ael) oHS TEdsh TRIRIT |

3.« SIH UhAT FFGA el o TeaT T Helheal H HEoTH
oIsTohal & ToIT Thel U FRU

4. v QIAEETE Gl o WgR # adlie &7 @ AT gEaerey-
3SR & 3cUTe o Tolw 1A o)

Question Number : 66 Question Id : 54592724912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Indian National movement
chronologically occurred at the latest?

Options:
1. v The British introduced the system of separate electorates
for the Muslims for the first time

2. = The Surat Split occurred within the Congress

3. » A group of Muslim landlords and nawabs formed the All
India Muslim League at Dacca

4. = Lord Curzon announced the Division of Bengal

Question Number : 66 Question Id : 54592724912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafeli@T & @ Fid T AT TS Jelelel FAFTAR 3
A gfed gam?

Options:




1. v 31T & Ugell IR JAHAATAT F AT 37e@T foaras Ase
@rwe_ﬁﬁr

2. « FIA AT PR H g3 o

x ATCH STHAICGRT 3T wfarsl & Ush GIHE o Seerl H 3ol
gﬁmﬂﬁaﬁaﬁwwmﬁm

4. % OIS holel of ST TAHTSTeT hl TIYUT hT

Question Number : 67 Question Id : 54592724913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following was not a reason for the mass
participation in the Non-Cooperation Movement?

Options:

1. = The Jallianwala Bagh Massacre
2. * The demand for Swara]

3. » The Khilafat wrongs

4. v The Chaurl Chaura incident

Question Number : 67 Question Id : 54592724913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HAEANT Jareel # e dHEERT & fov farafefad & @

Shiel AT hROT AR AT?

Options:

1. % SITeIITATe ST s HER

2. % TGITST whl AT
« THETRd & 1T eI
4. v T IRT Hr "gear

Question Number : 68 Question Id : 54592724914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who has been recently appointed as the RAW (Research and
Analysis Wing) chief in June 2019?

Options:

1. » Anil Dhasmana
2. » Arvind Kumar
3. » Rajiv Jain

4. v Samant Goel

Question Number : 68 Question Id : 54592724914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

grel 81 & [ 2019 A U (Rud Us vaArfafey @) & 9798 &
1 A7 e fogera fomam am@r &7

Options:

1. % 3ToTel OEHATAT

« 3NAg FHAN

2.
3. = Taild oidl
4. v AT MAT

Question Number : 69 Question Id : 54592724915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Oscars 2019 was the edition of the
awards-ceremony.

Options:

1. = 88th
2. » 89th
3. = 90th
4, v 91st

Question Number : 69 Question Id : 54592724915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HERT 2019, gwchu-w-m‘is F] TEHRIOT 2T




Options:

1. = 88 @T
2. % 89 df
3. = 90 &t
4. v 91 ar

Question Number : 70 Question Id : 54592724916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An Indian author was born in Varanasi and is famous for his
modern Hindi-Urdu literature. His notable works are Godaan,
Bazaar-e-Husn, Karmabhoomi, Shatranj ke khiladi, Gaban etc.
What was his pen-name and original name?

Options:

1. = Munshi Premchand, Dharamveer Bharati

2. = Dinkar, Ramdhari Singh

3. v Munshi Premchand, Dhanpat Ral Shrivastava
4, = Dinkar, Dharamveer Bharati

Question Number : 70 Question Id : 54592724916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Th ARG oI Rl SToA Wwﬁﬁgmiﬂaﬂl'ﬁ?mﬁ
amyfaeh BE-38 @mfgcd & fov afig &1 3efehT Seal@ei
Ffaar § e, STSTR-T-F T, FHHA, T & RISy, Teel

& 3eTehT hold-oTTH 3T Hel oATH 4T AT?

Options:

1. = 7 UoAeE, gAd AR
2. » TaoTehe, THYNT T8
3. v BT UATE, ¥edd T AAeda

4, = fEART, TLAAR 9RAT




Question Number : 71 Question Id : 54592724917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

He is the co-creator of popular fictional characters like
Spider-man, Iron Man, Hulk etc. He passed away in
November 2018 . Which author is being described in here?

Options:

1. = Jack Kirby

2. = Arthur Conan Doyle
3. v Stan Lee

4. » Herge

Question Number : 71 Question Id : 54592724917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g TUSSL-Hal, 3Rd-Hel, eh 3TMS Ak UT shledlaidr T o
Tg-TaATdr §lagey 2018 # 3oT fage & a7 T8l g
SR T Ut ToRaT ST IET &7

Options:

1. = Sih ToRal

2. = 3T hiedel SITd
3. v T @l

4, = Fol

Question Number : 72 Question Id : 54592724918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This organization has Gita Gopinath as the Chief Economist.
Where is the headquarters of this organization situated?

Options:

1. * New York
2. v Washington DC
3. = Geneva




4. = The Hague

Question Number : 72 Question Id : 54592724918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S TS H AT M (A1 FHRIANATE) F T8 gL T
YT §1 36 TSl T AT Fal [Tad &7

Options:

1. % sgATh
2. v gTredTea ST
3. = Sielar
4. % g gl

Question Number : 73 Question Id : 54592724919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Glven below are the pairs of inventions with their inventors.
Choose the correct match.

Options:

1. = Light bulb - Alexander Graham Bell
2. = Aeroplane - Thomas Alva Edison

3. » Telephone - The Wright Brothers

4. v James Naismith - Basketball

Question Number : 73 Question Id : 54592724919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A BT 0 IS AIsh 3T 3ok MTAShReRl & &1 Tar

[t 5
[Hellal <ol |
)

Options:

1. % oll3c Fod - 3elFoisy ATEH Sdl
2. = BATS SIgrel - UTAY 3edl Uisde
3. % ol - IS¢ §F2d




4. v JF ABTEAT - FEheald

Question Number : 74 Question Id : 54592724920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the Rajya Sabha every (i) years, (1) of the total
number of members complete their term.

Options:

1. v (1) two (i) one-third
2. % (i) three (ii) half

3. = (1) two (ii) one-fourth
4. = (1) three (ii) one-third

Question Number : 74 Question Id : 54592724920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT #H a3 (i) gsl # FeHdl AT Fel HEAT F (i)
&I HEET 396l SR TS ofd

Options:

1. v (i) &7 (i) vo-faers
2. = (i) ST (i) 3mar

3. = (i) @ (ii) Tw-arE
4. = (i) & (ii) wF AETS

Question Number : 75 Question Id : 54592724921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the incorrect statement about the Right To
Information Act.

Options:

1. = It was enacted in the year 2005

2. = It Is an initiative taken by Department of Personnel and
Training, Ministry of Personnel, Public Grievances and
Pensions



3. v State Governments don’t come under the ambit of this Act
4. = Aruna Roy was an eminent figure responsible for
bringing this Act into existence

Question Number : 75 Question Id : 54592724921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIl T JTAHR TATGTH & T H Ield H2e gﬁl

Options:

1. = 38 ¥ 2005 # FRAI@ET rar = or

2. = IE FIAF AN AfEreTor [Former, w1fFew, ofieh erraa 30T
gelel HATST SANT I I8 Ugel &

3. v T TN =9 MfAfeaw & =y # 187 3y &
4, % 3¥BOT U FT 59 JATAGIH T 3IRdca & ol A
Agccaqul AT §

Question Number : 76 Question Id : 54592724922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Constitutional Amendment Acts
deleted the Right to Property from the list of fundamental
rights?

Options:

1. v 44th
2. = 42nd
3. % 52nd
4. = 54th

Question Number : 76 Question Id : 54592724922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@&T # O forg goulfae ey« A Ead o §4icd &
TR T FAlfelsh TEOFRT 1 =T & ger =

Options:



1. v 44 a7
2. % 42 g
3. = 52 @
4. = 54 g

Question Number : 77 Question Id : 54592724923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the Constituent
Assembly is incorrect?

Options:

1. = It had eight major Committees on different subjects

2. = The President of the Constituent Assembly was Dr.
Rajendra Prasad and the Chairman of the Drafting Committee
was Dr. B.R. Ambedkar

3. v The Constituent Assembly was comprised of people who
had identical ideologies and principles

4. = In terms of political parties, the Congress dominated the
Assembly occupying as many as eighty-two per cent of the
seats in the Assembly after the Partition.

Question Number : 77 Question Id : 54592724923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT THT & TR H Toedfoli@d # 8 Fid T e Teld &7

Options:

1. » faffeer #el & fov 36 gea afafaar

2. = HIAUT AT & 37eTeT 31 Toig vag 3T uwg gfafa &
AT 3. 8L, 3ashT o

3. v Tfaure T & 00 &1 3URyd o ST g e e
3 [SURYRIT o




4. = SIET doh TSTalideh Soll ol JaTel & TaHTSTeT & &g
ATl THT H 1T T gueg a7 3R 38 82 yfderd die
grea 2T

Question Number : 78 Question Id : 54592724924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is Dipa Karmakar associated with?

Options:

1. = Archery
2. = Shooting
3. » Badminton
4. v Gymnastics

Question Number : 78 Question Id : 54592724924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FAF PR F @ frE A9 F w6 8

Options:

1. » JdREIST
2. = gféar
3. = SsfHee

4. v TSFITECF

Question Number : 79 Question Id : 54592724925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following term is related to football?

Options:

1. v Back-heel
2. » Raid

3. # Leg Side
4. = Deuce



Question Number : 79 Question Id : 54592724925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafaa & & *ia @1 oeg Feala @ Gafad §7

Options:

1. v Sh-glel
2. = I8

3. = ol I3

4. = T

Question Number : 80 Question Id : 54592724926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following sports is not correctly matched with
its respective sportsmen/sportswomen?

Options:

1. = Tennis — Angelique Kerber
2. » Football — Neymar Jr

3. # Cricket — Meg Lanning

4. v Cycling — Magnus Carlsen

Question Number : 80 Question Id : 54592724926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafei@a & O i I7 B 379 Toiaa Wemsr & Tar &7
O Aol &7 FTdaT &7

Options:

1. = 2fag - vaifelsh Sheix

2. » Hedlel - AR SIfaay

3. = fohehe - o9r Sfdar

4, v TISTFeET - HIAH Florad




Arithmetic Abilityl

Group Number : 5
Group Id: 5459271235
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271235
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271481
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592724927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

@ x @) =7

Options:

1% 27
2. v (729)°

3.« (27)°



4 (729)°

Question Number : 81 Question Id : 54592724927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et Ul H URelarer [eg (?) & TAUTT 9T FAT el
TAMET?

8 4
(3) x 3 =7

Options:

3
1. = (27)

2
2. v (729)

5
3. « (27)

3
4. = (729)

Question Number : 82 Question Id : 54592724928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

3.36 —2.34 s 2.79+4.34+4.77 _ ,
3 3.4
Options:

1. = 0.68
2. % 1.02
3.v1.19
4. = 0.85




Question Number : 82 Question Id : 54592724928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa T uee H UReaes eg (?) & TUTH 9T FAT HTa]
MW7

3.36— 234 o 279+ 4.34+4.77 _ ,
3 3.4
Options:

1. = 0.68
2. % 1.02
3. v 1.19
4. = 0.85

Question Number : 83 Question Id : 54592724929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

B8 v 7
=Xt ndl=1
10" 10 5

Options:

1. = 0
2. v 1
3. = 100

107
4. = 200

Question Number : 83 Question Id : 54592724929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFaTel T U H UesTaress Reg(?) o TATT 9T FIT 3Te

aqTigT?

Sl )
10 10 5

Options:

1. = 0
2. v
3. % 100

107

4_ % 200

Question Number : 84 Question Id : 54592724930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A I T
-+-%X-—- isequalsto:
§ "3 g

Options:

1,&'21

|

ke |

Question Number : 84 Question Id : 54592724930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3 1 1
;-I-E KE_; EEAEEY %

Options:



—
$
[
o | =

1
5« 33
3
3. % 23
1
4. % 32

Question Number : 85 Question Id : 54592724931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?)

38+16x08="7
Options:

1. = 43.2
2. v 50.8
3. % 44.8
4. % 1.9

Question Number : 85 Question Id : 54592724931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

geadrdeh Teg (?) h TUTT YT FAT 37T ATRU

38 + 16 x 0.8 = 7

Options:

1. = 43.2
2. v B0.8



3. % 448
4. = 1.9

Question Number : 86 Question Id : 54592724932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?)

4.5 x 4 -50 percent of 14 -25 percent of 28 = ?

Options:

1. % 2
2.v4
3.2 0
4. % 8

Question Number : 86 Question Id : 54592724932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yeeldldeh Tdeg (?) oh TUTeT YT FAT 37T ATET|

4.5 x 4 -50 ufaerd of 14 -25 widerd of 28 = ?

Options:

1. = 2
2. v 4
3. = 6
4. = 8

Question Number : 87 Question Id : 54592724933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the H.CF. of 1.4, 3.5 and 4.9.

Options:

1. = 0.07



2.v 0.7
3. % 3.5
4. % 0.35

Question Number : 87 Question Id : 54592724933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.4, 3.5 3T 4.9 T Agcdd TATIAAS AT hIAT|

Options:

1. = 0.0/
2. v 0.7
3. = 3.5
4. = 0.35

Question Number : 88 Question Id : 54592724934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the G.C.D.of 1.8, 3.6 and 7.2.

Options:

1. = 3.6
2. % 0.9
3.v18
4. % 0.108

Question Number : 88 Question Id : 54592724934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.8, 3.6 T 7.2. T HAgcdH THAIAIF AT HITAT|

Options:

1. = 3.6
2. = 0.9
3. v 1.8
4. = 0.108




Question Number : 89 Question Id : 54592724935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following will always divide the product of 6
consecutive even natural numbers?

Options:

1.%25><11!
2.%25?:7!
3.%267*':8!

4.&"26?56!

Question Number : 89 Question Id : 54592724935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o1 H SleT &1 6 HAET FH WIHidsh FEIAI & IOTeTthel T
T e TaTita Hiem?

Options:

1. = 2 x 11l
2. 2 x 7l
3. = 2 x @&l

4. v 2 x 6

Question Number : 90 Question Id : 54592724936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following number is completely divisible by
both 15 and 24?

Options:

1. v 4680



2. % 3630
3. = 2460
4. = 5460

Question Number : 90 Question Id : 54592724936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fratfei@a & & i & "@&ar 15 3T 24 &t @ @ e §
B &7

Options:

1. v 4680
2. = 3630
3. = 2460
4. = 5460

Question Number : 91 Question Id : 54592724937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a bookshop, the average number of biology, chemistry and
physics books is 360. The biology books are 180 more than the
average number of chemistry and physics books. The number
of physics books is 180 less than the average of biology and
chemistry books. What is the number of chemistry books in
the shop?

Options:

1. = 540
2. » 480
3. v 360
4. % 420

Question Number : 91 Question Id : 54592724937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk foRdmal T gt A ST Ao, e faarer 3R sitfaehr
hT gETRT FT AT TEIT 360 &1 ST [AAT FT GEIh T
feratmet 3i sifcehr shr qecrept T i FEar & 180 3ifae g
HITTRT T qecThl hr T&AT Sia faare A T@Rer faarer $r
JERl & AT T 180 FH &1 ghiel A T [aare =
qEhl kT TEAT Fohcll &7

1. = 540
2. = 480
3. v 360
4. = 420

Question Number : 92 Question Id : 54592724938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of books Iin a school library 1s 780 g. If ¢
student is issued three books of average weight of 720 g, then
the average weight of the remaining books will be 781 g. Find
the number of books in the library.

Options:

1.+~ 183
2. % 295
3. = 321
4. % 344

Question Number : 92 Question Id : 54592724938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tsh Thel TECTRTor H TECThl T 3 geiel 780 aTA &1 Iy
fordT ST T 720 IH & [T Tolel T dlel Tecoh STRT T
ST &, a6 Y GEdehl T 39T It 781 IMH R TEAFTo
H QI ST TEAT AT FISAT|

Options:

1. v 183
2. = 295
3. = 321
4. = 344

Question Number : 93 Question Id : 54592724939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Deepak buys a product at successive discounts of 35 percent
and 15 percent respectively. But he paid 8 percent sales tax on
purchased price. If Deepak paid a total of Rs.7637.76 for the
product, then what was the marked price of the product?

Options:

1. » Rs.16500
2. » Rs.18600
3. v Rs.12800
4. » Rs.10400

Question Number : 93 Question Id : 54592724939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&Ik shAer: 35 wfderd 3 15 ufderd T ge 0T Uk avq
EEAT & oifeher 38a TS 30 Heg W 8 wfcrerd feshr T T
aTcTer Foham| I grueh o avg & folv FoT €.7637.76 7
It foham &, O g&q &1 3fhd Hed FA7 UT?

Options:




* %.16500
* %.18600
v %.12800
* %.10400

ol

Question Number : 94 Question Id : 54592724940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When a person measures the area of a rectangle, he measures
the length. percent longer and measures the

breadth percent longer. As a result, the area of the
rectangle increases by 49.5 percent. Which of the following
options satisfy the blank spaces respectively?

Options:

1. = 20, 25
2. % 10, 35
3.+ 30,15
4. % 18, 28

Question Number : 94 Question Id : 54592724940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S FIs gFd T AT & &F I AGAT &, ar 98 &
gfaera 31fdes Amgar § 3t aisE gicrera

MR ATIAT &1 ddieide, 3T FT &9%e 49.5 Uiaerd ¢

SraT &1 frafeiEa & O wia a1 BreT A Reog Tmer i

HISC FIAT 87

Options:

1. = 20, 25
2. = 10, 35




3. v 30, 15
4. = 18, 28

Question Number : 95 Question Id : 54592724941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of a ticket for a movie 1s Rs.90 and number of tickets sold 1s 75 on Friday.
The sale of tickets is increased by 133% % due to decrease in the price by 20% on

Saturday. The sale of the number of tickets on Sunday decreased by 40% as there is
no change in the price of ticket compared to that on Saturday. What the percentage
increase in the revenue 1s on Sunday as compared on Friday?

Options:

1. = 18 percent
2. * 16 percent
3. v 12 percent
4. = 8 percent

Question Number : 95 Question Id : 54592724941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e oA & e fr Frag 90 s & 3R AR & o 71 et #r
AT 75 &) AR @ 20% @ HHET T FA & FROT Twer Fr @R F
133§%ﬁqﬁ§§e’htﬁm¢ﬂ#mﬁmﬁ40% &1 wA g& i

AAAR AT TofaT H e &1 FIAT H FIE dgolld A6l 37T &l YHAX &
Wﬁmﬂmﬁmqﬁvlﬁrﬁraﬁrgﬁﬁ?

Options:

1. = 18 yfaera
2. = 16 giaerda
3. v 12 uiaera
4. = 8 ufcrera

Question Number : 96 Question Id : 54592724942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



On the first day of school, 20 percent of the students were
absent. Of the students present, 29 percent wore white shirts,
32 percent wore blue shirts, 18 percent wore black shirts and
rest of 105 students wore red shirts. Find the total number of
students in the school.

Options:

1. = 500
2.v 625
3. = 750
4. = 800

Question Number : 96 Question Id : 54592724942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thol & ggel foel, 20 Uiderd o uieyd 91 3uiead st
H 8, 29 Ufaeld o T oC Igar o, 32 ufaerd o sirel T &I
SIC Ugall 2T, 18 Ufdeld o hrell o¢ Ugair T AT aTehr s 105
AT o oflel 2 TgaiT A7) fae@mery & Sl 1 Fol TEAT A
ISV |

Options:

1. = 500
2. v 625
3. = /50
4. = 800

Question Number : 97 Question Id : 54592724943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A trader had certain number of pens with him. He sold all the
pens on an offer of ten free on a purchase of fifty pens. Find
the profit percentage if he marked all the pens at 40 percent
more than the cost price.

Options:

1. = 18.25 percent
2. % 14.28 percent
3. v 16.67 percent
4. = 20 percent

Question Number : 97 Question Id : 54592724943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh SITURT & I Afead g&ar & i | 389« 4T 9, 50
$T Tglg 9T 10 I & fgare & S oy ufaera aa #& afg
3Ha @l OeT I AT Hed & 40 gicrerd 31fae 9 3ifehq
E I

Options:

1. = 18.25 wfdera
2. = 14.28 wfcerd
3. v 16.67 ufaerd
4. % 20 wferd

Question Number : 98 Question Id : 54592724944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A speaker is sold at 15 percent profit. If its selling price and
cost price are increased by Rs.14 and Rs.40 respectively, then
the percentage of profit will be 105/17 percent. What 1s its cost
price?

Options:

1. v Rs.640



2. » Rs.680
3. = Rs.760
4. = Rs.810

Question Number : 98 Question Id : 54592724944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TUTRT s 15 Uferd o 9 &7 ST &1 ITE SHerr Toshl
Ao 3 aRTd Aed HAT 14 3937 3T 40 39 §¢ I &, 4
AT T gicrerd 105/17 ufderd g1 S8Rl R Hed 4T §7

Options:

1. v & 640
2. = & 680
3. = & /60
4. = & &10

Question Number : 99 Question Id : 54592724945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man bought a table and a chair together at Rs.9000. He sold
the table at 8 percent loss and chair at 22 percent profit. On
the whole he got 16 percent profit. What is the selling price of
chair?

Options:

1. = Rs.7800
2. » RS.850606
3. = Rs.8623
4. v Rs.8784

Question Number : 99 Question Id : 54592724945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U IEAT o U el T TR FAl £.9000 # FEN 38
e T 8 WTRTeT T &l WX 3T F&l T 22 dlcerd oy =
ST Fo AR 38 16 ﬂﬁ?ﬁwgml jcl;ﬂ“fchl TR Hed

T 87

Options:

1. = %.7800
2. » ¥.8566
3. ® ®.8623
4. v ¥.8784

Question Number : 100 Question Id : 54592724946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a college, the number of seats available for doing MBA In
HR, Marketing and Finance are in the ratio 3: 1 : 4. The
admission fee for Finance, HR and Marketing are in the ratio
6 : 5:10. The difference between the total revenue of Finance
and marketing is Rs.11,20,000. What is the total revenue of
HR?

Options:

1. » Rs.8,00,000

2. * Rs.10,50,000
3. v Rs.12,00,000
4. » Rs.14,80,000

Question Number : 100 Question Id : 54592724946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk hiclel H, ATAT T, Ao 3k Rea & vAsv a &
folw 3uesy Hiel &r @&ar 3: 1: 4 # & [Aca, A@a g«
3R fa9urer & v yaer oo 6: 5: 10. & 3o # & oo
3 fa9uTer T Fel Tered .11,20,000 g1 Aldd HATST FT Fel
TET Teohcalr &7

Options:

1. = %.8,00,000
2. = %.10,50,000
3. v %.12,00,000
4. = %.14,80,000

Arithmetic Ability2

Group Number : 6

Group Id : 5459271236

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithmetic Ability2

Section Id : 5459271236
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1



Sub-Section Id: 5459271482
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592724947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raghu, Ram and Rajan have some money with them. Raghu
donate Rs.750, Ram donate Rs.500 and Rajan donate Rs.300,
then the ratio of money with them become 15 : 20 : 26. If the
difference of the initial money with Raghu and Rajan is
Rs.1750. What is the initial money with Ram?

Options:

1. v Rs.4500
2. » Rs.5500
3. = Rs.3000
4. » Rs.3800

Question Number : 101 Question 1d : 54592724947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g, TH 3R Tl & 90 $& 99 &1 3G o, 750 39, TH o
500 T 3T Telel & 300 FUF T ahe 2T, R 3a arer
U 7 g 15 1 20 @ 26 @ IRTI 3PN G AT Tl F

| LT YW T 3T 1750 9 & TH o URT &3

4T TohdaT §7

Options:

1. v %4500
2. = %.5500
3. * %.3000
4. = 3%.3800

Question Number : 102 Question Id : 54592724948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the sum of the second and third proportional to the 4
and 15, if their difference is 4.

Options:

1. = 23
2. % 17
3.% 19
4. v 16

Question Number : 102 Question 1d : 54592724948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 3T 15 & g@E¥ 3 e sMegurfass @1 A@er Jd w, I

3oTehT AT 4 gl

Options:

1. = 23
2. % 17
3. % 19
4. v 16

Question Number : 103 Question Id : 54592724949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arun borrowed Rs.15000 and Rs.30000 at 12 percent per
annum and 10 percent per annum respectively at compound
interest compounded half yearly. He lent the whole amount
at 15 percent per annum at simple interest. The amount Arun
will be left with at the end of first year will be:

Options:

1. v Rs.1821
2. » Rs.1964
3. * Rs.1675
4. » Rs.2004



Question Number : 103 Question 1d : 54592724949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37%0T & 12 wiged ufa a¥ & B @ %.15000 310 wfaerda
uiaay & G @ % 30000 Thgid sATST (SHTET 0TE) 0
YR foram| 38 15 giderd uid ¥ SRy sgre 98 11 afer
3T & | Uk g¥ F AT H 30T & gAY e gei

Options:

1. v %1821
2. = %.1964
3. » %.16/5
4. = 52004

Question Number : 104 Question Id : 54592724950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rs.12186 was divided among Mini and Neelam. Each of them
invested their shares at 8 percent per annum compound
interest. The value of Mini’'s investment at the end of six years
was equal to the value of Neelam’s investment at the end of
elght years. Find the share of Mini.

Options:

1. » Rs.6241
2. v Rs.6561
3. = Rs.6724
4. » Rs.6400

Question Number : 104 Question 1d : 54592724950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



5.12186 &I TReT 3T oy & Fanfora Far - | 3a8 &
Ul o 3Te AT HI 8 wlderd ufd v <ehglg sITel W

fader framl o awl & 39 & @ & g &1 757 378 9@
& AT H dTH & o132 & AT o sIe AT| Hel &1 BEdr
AT HIfeT]

Options:

1. = %.6241
2. v 56561
3. » 5.6724
4. = %.6400

Question Number : 105 Question 1d : 54592724951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person invested one third of his money at 8.5 percent per
annum simple interest, one third of the remaining at 10.5
percent per annum simple interest and remaining at 12
percent per annum simple interest. Find the effective rate of
interest at which he invested entire money.

Options:

1. = 9.35 percent
2. v 10.5 percent
3. = 11.25 percent
4. = 10 percent

Question Number : 105 Question Id : 54592724951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh ST of 3Uel el T Uk Tdgrg 8.5 ufderd ufa av
GTRUT 75T W, Y U fags 10.5 wiaerd uia ay Jraror
STl WY 30T 9 12 yfaera ufaay Sraror sarsT 93 6|
3H YHMEN ST T AT S0 o o 38 38 Fr1 foigder
foraT B

Options:

1. = 9.35 gfaera
2. v 10.5 yfaera
3. = 11.25 ufcera
4, = 10 gfcaerd

Question Number : 106 Question 1d : 54592724952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A student rides on bicycle at 8 km/h and reaches his school
2.5 minutes late. The next day he increases his speed to 10
km/h and reaches school 5 minutes early. How far is the
school from his house?

Options:

1. = 5/4 km
2. % 8 kim
3.+5km
4. %= 10 km

Question Number : 106 Question 1d : 54592724952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh faegredl 8 feh.alfaer I arfd & drsfohel Telldl & 3T 31Uat
ﬁmw&SﬁaEaTﬁqgﬂaTﬁmﬁ?ra%’mﬁr?r%aﬁ
gt 10 foh.AVEeT T 31 & 3K 5 TAee vge & Ao
q_é_:u ST &| 39 =X & Taegmerd fohdelr gF &7




Options:

1. = 5/4 for.AY
2. = 8 fr.AT
3. v 5 fhAT
4. = 10 for.AT

Question Number : 107 Question Id : 54592724953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Karan travels the first one-fourth of his journey time at 70
kmph, and the remaining at 30 kmph. If he covers a total
distance of 320 km. find his average speed over the entire
journey.

Options:

1. = 32km/hour
2. v 35 kmm/hour
3. = 36 kmm/hour
4. % 42 kKmm/hour

Question Number : 107 Question Id : 54592724953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FILOT Tl ATAT & AT FT gl Teh-adTs AET 70 ToRAT ufa
T 3T A 30 frAT ufa g¢ Fr Fr afag & a7 =ar &1 g
g8 320 foraAT 1 For gt 7 Far &1 T I 7 It
T AT L

Options:

1. = 32 TrAVEE
2. v 35 frAvEe
3. = 36 TorAlEe
4. = 42 fRAVEe




Question Number : 108 Question 1d : 54592724954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rajendra made an upstream journey of 45 km in a certain
time. If his speed in still water was 2 kmph less and the speed
of the stream was 2 kmph more, he would have taken 4 hours
more for that journey. Find his upstream speed (in kmph).

Options:

1. = 8 km/hour

2. v 9 km/hour

3. = 12 km/hour
4. = 13.5 km/hour

Question Number : 108 Question 1d : 54592724954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ioig o Uk Ao gag & 45 raT arr Fr fauia feger &
(FEAUATE) ATAT Rl AT o ol A 3TeRT 1 2 ToraAT ufay
HeT A B S 3 9RT &7 91fa 2 foraAT ufa ger dfE+ &
S, ar 38 39 IET # 4 g 1O F6er IR 9T *

Uit e & aifa (Fedvwas)ard Sied| (RaT uia g #)

Options:

1. = 8 Teral/Ee
2. v 9 forAvEe
3. = 12 fRANEE
4. = 13.5 frafae

Question Number : 109 Question Id : 54592724955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Nine men can complete a job in 15 days. If a man works
thrice as fast as a woman, find the number of, days taken by
15 women to complete the job.



Options:

1. = 20
2. % 24
3.v 27
4. % 36

Question Number : 109 Question 1d : 54592724955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15 fao & &t =gfehd ThdT ST T [T HT Foha &1 30X s
T&Y Teh HIgoll shl Jelell H Tlel Il &THAT & FRT HLam &, v
HRT H QT Fel & flv 15 Afgemstt ganry fow aw fear

T&IT ATT |

Options:

1. = 20
2. % 24
3. v 27
4. = 36

Question Number : 110 Question Id : 54592724956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A team of two people A and B, who can complete a piece of
work together in 40 days, begin the work. C joins them after 8
days and the work gets completed in 24 days after C joins
them. In how many days can C alone complete the work?

Options:

1. = 90
2. % 80
3. = 60
4.+ 120



Question Number : 110 Question Id : 54592724956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar ot A 3T B T vk &F, S 40 feat & vk grer fordr

SR T Q@ A &, FH OF Fd &l 8 feeil & are C 3o
ST & 3R C & S5« & o1 24 feal & F & Q@ & S g
C 3fehel Tohclel el H 37 HTH I [ T Hehell §7

Options:

1. = 90
2. = 80
3. = 60
4, v 120

Question Number : 111 Question 1d : 54592724957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A tank is filled in 7 hours by three pipes A, B and C. The pipe
C is thrice as fast as B and B is thrice as fast as A. How much
time will pipe A alone take to {ill the tank?

Options:

1. = 46 hrs
2. » 105 hrs
3.+91hrs
4. % 35 hrs

Question Number : 111 Question Id : 54592724957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Teh &k 7 ©C H i 9isdl A, B 3 C aRT #R_T AT 2

qigy C, 95T B & ol T JfAF &7AT FT § AT 92y B,
T A B T AT TR GTAAT FT &1 UIST A 3fehel dF H
T H TohdeT AT o9m?

Options:




x 46 T
x 105 €&
v 91 T¢
x 35 €

ol

Question Number : 112 Question 1d : 54592724958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The circumference of base of a cylinder is 7 T ¢cm and the
height is twice the radius of base. Find the volume of the

. : 3
cylinder (in cm )?
Options:

1. v 269.5
2. % 343
3. = 288
4. % 196

Question Number : 112 Question Id : 54592724958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh Solel o 3T Rl AT 7 71 TAL § 3T 3918 39 3R

kT ST T AT &| SoleT HT AT AT R (T QAT H)?

Options:

1. v 269.5
2. % 343
3. » 288
4. = 196

Question Number : 113 Question 1d : 54592724959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The perimeter of a right triangle is 80 cm and its hypotenuse
is 34 cm. The area of the triangle is

Options:

1. = 640 sq cm.
2. * 360 sq cm.
3. % 420 sq cm
4. v 240 sq cm.

Question Number : 113 Question 1d : 54592724959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tsh HHARIOT gt T IRATT 80 HAT & 3 gERT Kol hr
oFTS 34 TAT &1 A FT & gl

Options:

1. = 640 Tt FAT
2. = 360 gt qAAT
3. = 420 T FAT
4. v 240 TT IAT

Question Number : 114 Question Id : 54592724960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length, breadth and height of a room are in the ratio of 4 :
3 : 2. The cost of carpeting the floor at Rs. 10 per square meter
is Rs. 480. Find the height of the room.

Options:

1. = 10 m
2. % 6bm
3.¢#4m
4. % 2m

Question Number : 114 Question Id : 54592724960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ush AT T @S, WSS I IR 4 1 31 2 & U H E
10 % ufad ot HieT T et & oD & gohet FT oeTT 480 T, &
HAY HT AT AT SISV

Options:

1. = 10 #AII
2. = 6 HIT
3. v 4 HIeT
4, = 2 HIT

Question Number : 115 Question 1d : 54592724961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following table carefully to answer these questions:

Population (in thousands) of four States over the years

STATE
Years A B C D
2013 310 260 115 162
2014 315 280 126 167
2015 320 290 128 175
2016 324 294 144 212

Which state had the highest per cent rise in population from
20015 to 20167

Options:

1. = C
2. B
3.vD
4 = A



Question Number : 115 Question Id : 54592724961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToFa Tl weall T 3ca¥ 3ot & ToIv Aadameigdes faestiel i

arfererT T 3TeTeT |

few arv anf & 4 U=t 1 FAEEAT (B9R A)

- A B C D
2013 | 310 260 115 162
2014 | 315 280 126 167
2015 | 320 290 128 175
2016 | 324 294 144 212

20015 & 2016 H [T U= +T JIa9EAT # Hafed gig gé‘l AT?

Options:

1. = C
2. = B
3. v D
4, = A

Question Number : 116 Question Id : 54592724962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following pie chart shows percent of students enrolled in
different cultural activities of a college. You are required to
study the pie chart carefully and answer the question given
below.

Mumber of Students = 4000

How many students have opted for Dance and music together?

Options:

1. = 900

2. v 1600
3. % 1200
4. = 1500

Question Number : 116 Question Id : 54592724962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ek Shiotol ol fdf#esel AIEepicish IATATATET H ATHIhT ST I
g% d7¢ H Uiaerd & G@MEr =T 1 3Rl 915 A1E I
T O EATT FTAT R AT AR &0 7T 92 T 3o

SalT BT

Sfcd 3T Gl T Tl Tohcdal BTAl o AT §7

Options:

1. = 900
2. v 1600
3. = 1200
4. = 1500

Question Number : 117 Question Id : 54592724963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following Table carefully to answer the questions.
Table represents Percentage of employees working in various
departments of an organization.

Total Number of Employees = 6000

Department | employee

! 25%
Production

HR 30%

20%
IT

o
Marketing L

os
Accounts 10%

The number of employee working in the Production
department of the organization forms approximately what
percent of the total number of employees working in account
department?

Options:

1. = 160 percent
2. % 220 percent
3. = 130 percent
4. v 250 percent

Question Number : 117 Question Id : 54592724963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fraTeI&T weall &7 3ca¥ & & Tolv TeedATa&d arfelehT &1
AT Yaeh 3TeTel |

drfererT A Qe & F1 6 arel AT & gfaerd
T gelfar &l

FAATRAT T el FEIT = 6000

He1d 30%

AT

W 20%%
faquer | 1°%
Tom 10%

3cUTCel TOHTET H HTH el dlol hHTRT hl TEIT, oiE@T TTHTET
H FTH Flal qTel FHATRAT hT JEIAT FHT FITHIT TohadaT Hiaerd

Options:

1. = 160 ufderd
2. = 220 gfaera
3. = 130 ufaera
4. v 250 uTaerd

Question Number : 118 Question Id : 54592724964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Population (in thousands) of Five States
over the years.

i

=]

210
20

HA BB 5C mD BRE

Population of state Cin 2011 is approximately what percent of
the total population of all states together in that year?

Options:

1.+ 17.5
2. % 11.5
3. %10.2
4. % 8.6

Question Number : 118 Question Id : 54592724964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

ITE KT T Fi|

faw a1 gt # ofw Usal Y FEEET (FAR #H)

nan
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2
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mA BB EC mD EE

2011 # T=g C RFaa&ar,3T a¥ # AT Ty Hr ol
STTHEAT T o191 Tohder wiaera &7

Options:

1. v 17.5
2. = 11.5
3. = 10.2
4. = 8.6

Question Number : 119 Question Id : 54592724965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following line-graph shows the percentage profit earned by a
company during the period of 2012 to 2018.

B oW & B H O3

2012

2013

2014

2015

2016 2017 2018

If the income of Company in 2012 is the same as the income
in 2018, then what would be the ratio of the expenditure of
Company in 2012 to the expenditure in 2018?

Options:

1. v 65
2. %41

3. 71:
4. % 83

" 58
- 92

15
15

Question Number : 119 Question Id : 54592724965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feafeIRT asa-ams 2012 & 2018 1 3@ & I T
FUAT ZART 3Totd UTderd omsT ol g=ITdTr g

B R B OH A

2012 AN13 2014 2015 2016 2017 2018

Ifg a¥ 2012 & F9aT Fr 31, a§F 2018 A 3T & AT &, oF
gy 2012 H h9aT o =T JAT a¥ 2018 H =T FI CORICEES)

gIa?

Options:

1. v 65 : 58
2. = 41 : 92
3. = 71 :15
4. = 83 : 15

Question Number : 120 Question Id : 54592724966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following bar-graph shows the percentage profit earned by a
company during the period of 2012 to 2016.

&0

54
20 - 36
32
20 A 75
m o E——
10 4
0 - - : . . : ,
2012 2013 2012

2015 2016

If the profits (in Rs.) of company in the year 2013 and 2014
are equal, then what is the respective ratio of expenditure in
the year 2013 and 2014?

Options:

1. = 7:
2.v 7.
3.% 3.
4, = 2.

1 1 W12

Question Number : 120 Question Id : 54592724966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fAFafe@a F-am®s 2012 & 2016 &1 3@afd & ST v Fu«r
EART TSI ufcrerd «re sl itdr gl

54

=]
40 - 35

32
20 - 75
m = E—
10

2012 2013 2014 2015 2016

Ife ¥ 2013 3 2014 & F9aT FT o1 (5. #A) A &, o
a¥ 2013 3T 2014 # =TT FT FAT: AT 4T §7

Options:

1. = 712
2.v 7 :5
3. = 3:5
4. = 2:5

General Englishi
Group Number : 7
Group ld: 5459271237
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 5459271237

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271483
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592724967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

The moon is one of the most promising place to explore the
birth and development of our solar system.

Options:

1. * The moon is one of

2. v the most promising place to
3. = the birth and development
4. = of our solar system.

Question Number : 121 Question Id : 54592724967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

The moon I1s one of the most promising place to explore

the birth and development of our solar system.

Options:



1. = The moon Iis one of

2. v the most promising place to
3. = the birth and development
4

. % of our solar system.

Question Number : 122 Question Id : 54592724968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Fear of snake bites contributes to negative attitudes of snakes.

Options:

1. = Fear of snake

2. » bites contributes to
3. * negative attitudes
4. v of snakes.

Question Number : 122 Question Id : 54592724968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Fear of snake bites contributes to negative attitudes of

shakes.

Options:

1. = Fear of snake
2. % bites contributes to
3. ® negative attitudes

4. v of snakes.

Question Number : 123 Question Id : 54592724969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

When the ice melts, the sea gets warmer, because the water
absorbing the energy of the sun.

Options:

1. * When the ice melts,

2. = the sea gets warmer,

3. = because the water

4. v absorbing the energy of the sun.

Question Number : 123 Question Id : 54592724969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

When the ice melts, the sea gets warmer, because the

water absorbing the energy of the sun.

Options:

1. = When the ice melts,
2. » the sea gets warmer,
3. = because the water

4, v absorbing the energy of the sun.

Question Number : 124 Question 1d : 54592724970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Self-care, which most happens outside the formal health
system, is nothing new.

Options:

1. v Self-care, which most
2. = happens outside the
3. = formal health system,
4. = 1S nothing new.

Question Number : 124 Question Id : 54592724970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Self-care, which most happens outside the formal health

system, IS nothing new.

Options:

1. v Self-care, which most
2. » happens outside the

3. = formal health system,
4,

% |1s nothing new.

Question Number : 125 Question 1d : 54592724971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

According to the WHOQO, over 400 million across the world
already lack access for essential health services.

Options:

1. = According to the WHO

2. » over 400 million across
3. = the world already lack
4. v access for essential

Question Number : 125 Question Id : 54592724971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

According to the WHO, over 400 million across the world

already lack access for essential health services.

Options:

1. = According to the WHO
2. » over 400 million across
3. = the world already lack
4,

v access for essential

Question Number : 126 Question 1d : 54592724972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The Budget for a New India has a roadmap for transformed
the agriculture sector of the country.

Options:

1. v to transform

2. = to transforming

3. = to transformed

4. = No substitution required

Question Number : 126 Question Id : 54592724972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

The Budget for a New India has a roadmap for transformed

the agriculture sector of the country.

Options:

1. v to transform
2. % to transforming
3. * to transformed

4. = No substitution required

Question Number : 127 Question Id : 54592724973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The budget beside being a policy document for boosting
growth, serves the larger interest of all sectors of the economy.

Options:

1. = beside a

2. v besides being a

3. = besides been a

4. = No substitution required



Question Number : 127 Question 1d : 54592724973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

The budget beside being a policy document for boosting

growth, serves the larger interest of all sectors of the

economy.

Options:

1. = beside a
2. v besides being a
3. = besides been a

4. = No substitution required

Question Number : 128 Question Id : 54592724974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Companies having annual turnover of Rs 400 crore, will
requires to pay 25 percent of their income as tax.

Options:

1. = will requiring to pay



2. » will require pay
3. v will be required to pay
4. = No substitution required

Question Number : 128 Question Id : 54592724974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

Companies having annual turnover of Rs 400 crore, will

requires to pay 25 percent of their income as tax.

Options:

1. = will requiring to pay
2. » will require pay

3. v will be required to pay

4. = No substitution required

Question Number : 129 Question Id : 54592724975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Nutrition is another important factor to consider when
deciding whether or not to feed wildlife.

Options:



1. » whether if

2. » whether to

3. = if or whether

4. v No substitution required

Question Number : 129 Question Id : 54592724975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

Nutrition Is another important factor to consider when

deciding whether or not to feed wildlife.

Options:

1. = whether |f
2. = whether to
3. = |If or whether

4. v No substitution required

Question Number : 130 Question Id : 54592724976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

As many as 17 iconic sites will be built In the country to give a
boost to the travel and tourism sector.

Options:

1. v across the country

2. *» around the countries

3. # Inside the country

4. = No substitution required

Question Number : 130 Question Id : 54592724976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

As many as 17 iconic sites will be built In_the country to

give a boost to the travel and tourism sector.

Options:

1. v across the country

2. = around the countries
3. # Inside the country
4

. * No substitution required



Question Number : 131 Question Id : 54592724977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Earthquakes are naturally destructive of our planet’s
constantly changing surface.

Options:

1. v effects
2. » affects
3. = effect
4. » affect

Question Number : 131 Question Id : 54592724977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Earthquakes are naturally destructive of our

planet's constantly changing surface.

Options:

1. v effects
2. = affects

3. = effect



4. = affect

Question Number : 132 Question Id : 54592724978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Russia is the top contender countries that could help
cut emissions by planting new forests.

Options:

1. = between
2. v among
3. % across
4. = ahove

Question Number : 132 Question Id : 54592724978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Russia 1s the top contender countries that could

help cut emissions by planting new forests.

Options:

1. = between
2. v among
3. % across

4. = above



Question Number : 133 Question 1d : 54592724979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A study shows clearly that forest restoration Is
climate change solution available today.

Options:

1. = good

2. » better

3. v the best

4. = more better

Question Number : 133 Question Id : 54592724979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A study shows clearly that forest restoration is

climate change solution available today.

Options:

1. = good
2. = better
3. ¢ the best

4. = more better

Question Number : 134 Question 1d : 54592724980 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Trees use the energy of sunlight, and the process of
photosynthesis they take carbon dioxide.

Options:

1. = thorough
2. = 1n

3. = by

4. v through

Question Number : 134 Question Id : 54592724980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Trees use the energy of sunlight, and the process

of photosynthesis they take carbon dioxide.

Options:

1. = thorough
2. %1In
3. = by
4, v through

Question Number : 135 Question 1d : 54592724981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Every 27.3 days, the moon makes its way our planet
while also completing one turn on its axis.

Options:

1. v around
2. ® aCross
3. = above
4. = below

Question Number : 135 Question 1d : 54592724981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Every 2/.3 days, the moon makes Its way our

planet while also completing one turn on its axis.

Options:

1. v around
2. * across
3. = above
4. = below

Question Number : 136 Question Id : 54592724982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

One of the most striking features of the moon is craters
punched its surface.

Options:

1. = on
2. v Into
3. = by
4. = at

Question Number : 136 Question 1d : 54592724982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

One of the most striking features of the moon Is craters

punched its surface.

Options:

1. = on
2. ¢ Into
3. ® by

4. = at

Question Number : 137 Question Id : 54592724983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

The temperature in the Arctic is rising twice the
global average.

Options:

1. = the fast

2. » fast like
3.vasfastas
4. = and fast as

Question Number : 137 Question 1d : 54592724983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The temperature In the Arctic Is rising twice the

global average.

Options:
1. = the fast
2. = fast like

3. v as fast as

4. = and fast as

Question Number : 138 Question Id : 54592724984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Anyone can plant a tree and we can start it tomorrow.

Options:

1. = do
2. » done
3. = did
4, v doing

Question Number : 138 Question Id : 54592724984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Anyone can plant a tree and we can start It

tomorrow.

Options:

1. = do
2. = done
3. = did
4. v doing

Question Number : 139 Question Id : 54592724985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: It formed some 4.5 billion years ago, when the solar system
was in its beginning.

B: It has circled our planet for billions of years.

C: But its position in modern night skies stems from a
tumultuous past.

D: The moon, earth’s sole natural satellite, 1s our constant
companion.

Options:

1. v DBCA
2. » DBAC
3. = ACBD
4. = ACDB

Question Number : 139 Question 1d : 54592724985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: It formed some 4.5 billion years ago, when the solar
system was In its beginning.

B: It has circled our planet for billions of years.

C: But its position in modern night skies stems from a
tumultuous past.

[: The moon, earth’s sole natural satellite, I1s our constant

companion.

Options:

1. v DBCA
2. = DBAC
3. = ACBD
4. = ACDB

Question Number : 140 Question Id : 54592724986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: the planets and asteroids in our solar

B: system, and Earth’s moon is

C: There are more than 190 moons orbiting
D: the fifth largest of the lot.



Options:

1. = CADB
2. v CABD
3. = ABDC
4. = ABCD

Question Number : 140 Question 1d : 54592724986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: the planets and asteroids in our solar

B: system, and Earth’s moon Is

C: There are more than 190 moons orbiting
D: the fifth largest of the lot.

Options:
1. = CADB
2. v CABD
3. = ABDC
4. = ABCD
General English?
Group Number : 8
Group Id: 5459271238
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0

Group Marks: 20



Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General English?2
Section Id : 5459271238
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459271484
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 54592724987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: That trip—possible only because of drastically melted ice—
inspired Ousland’s current project.

B: Polar explorer Borge Ousland has been making history in
the Arctic for a quarter century.

C: He and fellow explorer Mike Horn then became the first
people to ski unsupported to the North Pole.

D: In 1994 and 1996, the Norweglan was the first person to ski
alone without resupply to the North Pole and across
Antarctica.

Options:

1. * BDAC
2. x BCDA
3. v BDCA



4. » BCAD

Question Number : 141 Question Id : 54592724987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: That trip—possible only because of drastically melted i1ce—
inspired QOusland’s current project.

B: Polar explorer Borge Ousland has been making history In
the Arctic for a quarter century.

C: He and fellow explorer Mike Horn then became the first
people to ski unsupported to the North Pole.

D: In 1994 and 1996, the Norwegian was the first person to
ski alone without resupply to the North Pole and across

Antarctica.

Options:

1. = BDAC
2. = BCDA
3. v BDCA
4. = BCAD

Question Number : 142 Question Id : 54592724988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Frigid

Options:



1. v Freezing
2. » Humid
3. » Hooked
4. = Mild

Question Number : 142 Question Id : 54592724988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Frigid
Options:

1. v Freezing
2. * Humid
3. = Hooked
4. = Mild

Question Number : 143 Question Id : 54592724989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Appreciate

Options:

1. = Interested
2. v Depreciate
3. = Contrast
4. = Unbiased

Question Number : 143 Question 1d : 54592724989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Appreciate

Options:

1. = Interested
2. v Depreciate
3. = Contrast

4. = Unblased

Question Number : 144 Question Id : 54592724990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Distinguished

Options:

1. = Typical
2. % Standard
3. v Esteemed

4. = Lowly

Question Number : 144 Question Id : 54592724990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Distinguished

Options:

1. = Typical



2. = Standard
3. v Esteemed

4, = Lowly

Question Number : 145 Question 1d : 54592724991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Stupefy

Options:

1. v Enliven

2. » Command
3. = Declare

4. = Consume

Question Number : 145 Question 1d : 54592724991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Stupefy

Options:

1. v Enliven
2. * Command
3. = Declare

4. = Consume

Question Number : 146 Question Id : 54592724992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the synonym of the given word.

Erroneous

Options:

1. = Gloomy

2. v Mistaken
3. = Utilize

4. = Unsulitable

Question Number : 146 Question Id : 54592724992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Erroneous

Options:

1. = Gloomy
2. v Mistaken
3. = Utlize

4. = Unsuitable

Question Number : 147 Question Id : 54592724993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Pallette



2. = Saffron
3. = Parity
4. = Stagnation

Question Number : 147 Question Id : 54592724993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Pallette
2. = Saffron
3. = Parity
4. = Stagnation

Question Number : 148 Question Id : 54592724994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Diplomatic
2. v Luxurience
3. = Diversity
4. = Jaundice

Question Number : 148 Question Id : 54592724994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the wrongly spelt word.

Options:

1. = Diplomatic
2. v Luxurience
3. = Diversity
4. = Jaundice

Question Number : 149 Question Id : 54592724995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Distinction
2. » Exhaustion
3. v Ambasador
4. = Publicity

Question Number : 149 Question Id : 54592724995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Distinction

2. * Exhaustion



3. v Ambasador

4. = Publicity

Question Number : 150 Question Id : 54592724996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

On the same page

Options:

1. v Thinking in the same manner
2. = At the same place

3. » In a disagreement

4. = In a dispute

Question Number : 150 Question Id : 54592724996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

On the same page

Options:

1. v Thinking In the same manner
2. » At the same place
3. * In a disagreement

4. = In a dispute

Question Number : 151 Question Id : 54592724997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Eat like a horse

Options:

1. = To be insulted

2. v Eat in large quantities
3. = Tolie

4. = To be on a diet

Question Number : 151 Question Id : 54592724997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Eat like a horse

Options:

1. * To be Insulted
2. v Eat In large quantities
3. = To lie

4. = To be on a diet

Question Number : 152 Question Id : 54592724998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Skate on thin ice

Options:

1. « To be fearful



2. = To be careful
3. v In a risky situation
4. = Lacking in strength

Question Number : 152 Question Id : 54592724998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Skate on thin ice

Options:

1. = To be fearful
2. ¥ To be careful
3. v In a rnisky situation

4. = Lacking Iin strength

Question Number : 153 Question Id : 54592724999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A plan for carrying out a process or procedure

Options:

1. v Schedule
2. » Excerpt
3. » Agenda
4. = Manifesto

Question Number : 153 Question Id : 54592724999 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A plan for carrying out a process or procedure

Options:

1. v Schedule
2. = Excerpt
3. = Agenda
4. = Manifesto

Question Number : 154 Question Id : 54592725000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A principle or standard by which something may be judged or
decided.

Options:

1. » Horizon
2. v Criterion
3. = Podium
4. » Mosaic

Question Number : 154 Question Id : 54592725000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

A principle or standard by which something may be judged

or decided.

Options:

1. = Horizon
2. v Criterion

3. = Podium

4. = Mosaic

Question Number : 155 Question 1d : 54592725001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A medical practitioner qualified to diagnose and treat skin
disorders.

Options:

1. = Cardiologist
2. = Zoologist

3. v Dermatologist
4. = Astrologist

Question Number : 155 Question Id : 54592725001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

A medical practitioner qualifled to diagnose and treat skin

disorders.

Options:

1. = Cardiologist
2. = Zoologist
3. v Dermatologist

4, = Astrologist

Sub-Section Number: 2
Sub-Section 1d: 5459271485
Question Shuffling Allowed : Yes

Question Id : 54592725002 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

Children have to be active every day. Physical activity
stimulates growth and leads to improved physical and
emotional health. Today, research shows that the importance
of physical activity in children is stronger than ever. For
example, medical researchers have observed that highly
active children are less likely to suffer from high blood
pressure, diabetes, cancer of the colon, obesity, and coronary
heart disease later in life.

Exercise is also known to relieve stress. Some children
experience as much stress, depression, and anxiety as adults
do. And because exercise improves health, a fit child is more
likely to be well rested and mentally sharp. Even moderate
physical activity has been shown to improve a child’s skill at
arithmetic, reading, and memorization.

But sport, not just exercise, gives a child more than just
physical well-being; it contributes to a child’s development
both psychologically and socially. Sport psychologist Dr. Glyn
Roberts of the University of Illinois has worked primarily in
children’s sport for the last two decades. He emphasizes that
sport is an important learning environment for children.

“Sport can affect a child’s development of self-esteem and self-
worth,” explains Roberts. “It is also within sport that peer
status and peer acceptance is established and developed.”

One way children gain acceptance by their peers is to be good
at activities valued by other children, says Roberts. Research
shows that children would rather play sports than do
anything else. A study conducted in the United States showed
that high school boys and girls would rather be better at
sports than in academic subjects. The same study showed that
high school boys would rather fail in class than be
incompetent on the playing field.

Because sport is important to children, being good at sports is
a strong social asset. Young boys in particular use sports and
games to measure themselves against their friends. Children
who are competent at sports are more easily accepted by
children of their own age, and are more likely to be team
captains and group leaders. Such children usually have better
social skills.

The primary goal of parents and coaches is to help children
find the success in sport they need to make them feel valued
and wanted. Every child can be successful at one sport or
another. Take the time to find the sports that are right for
each child.



Sub questions

Question Number : 156 Question Id : 54592725003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author in the passage discusses:

Options:

lp. v Importance of sport for children.
2. = Physical Activity

3. » Ways to reduce stress

4. = Soclal skills and children

Question Number : 157 Question Id : 54592725004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is not true in the context of
the passage?

Options:

1. = Children who are highly active are less likely to suffer
from physical ailments.

2. v Sport has no impact on a child’s self-esteem and self-
worth.

3. » Exercise relieves stress.
4. = Sport contributes to psychological and social well-being.

Question Number : 158 Question 1d : 54592725005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options has not been stated in the
passage as a merit of physical exercise?

Options:

1. = It relieves stress.



2. = It improves health.
3. v It is a strong social asset.
4. = It improves reading and memorization.

Question Number : 159 Question Id : 54592725006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author say that being good at sports is a strong
social asset?

Options:

1. = Every child can be good at one sport or another.

2. = It helps in establishing and developing peer status and
peer acceptance.

3. » Children would rather be better at sports than in
academic subjects.

4, v It enhances the social skills of children.

Question Number : 160 Question Id : 54592725007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given options, choose the one which is most nearly
similar in meaning to the word ‘stimulate’ as used in the 1st
paragraph, 2nd line in the passage:

Options:

1. v Encourage
2. » Provoke
3. * Moderate
4. » Establish

Question Id : 54592725002 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Answer the questions based on the following passage.

Children have to be active every day. Physical activity
stimulates growth and leads to improved physical and
emotional health. Today, research shows that the importance
of physical activity in children is stronger than ever. For
example, medical researchers have observed that highly
active children are less likely to suffer from high blood
pressure, diabetes, cancer of the colon, obesity, and

coronary heart disease later in life.

Exercise is also known to relieve stress. Some children
experience as much stress, depression, and anxiety as
adults do. And because exercise improves health, a fit child
is more likely to be well-rested and mentally sharp. Even
moderate physical activity has been shown to improve a

child’s skill at arithmetic, reading, and memorization.

But sport, not just exercise, gives a child more than just
physical well-being; it contributes to a child’s development
both psychologically and socially. Sport psychologist Dr.
Glyn Roberts of the University of lllinois has worked
primarily in children’s sport for the last two decades. He
emphasizes that sport is an important learning environment

for children.

“Sport can affect a child’s development of self-esteem and
self-worth,” explains Roberts. It is also within sport that
peer status and peer acceptance is established and

developed.”

One way children gain acceptance by their peers is to be
good at activities valued by other children, says Roberts.
Research shows that children would rather play sports than
do anything else. A study conducted in the United States
showed that high school boys and girls would rather be
better at sports than in academic subjects. The same study
showed that high school boys would rather fail in class than

be incompetent on the playing field.

Because sport is important to children, being good at sports
is a strong social asset. Young boys in particular use sports
and games to measure themselves against their friends.
Children who are competent at sports are more easily
accepted by children of their own age, and are more likely
to be team captains and group leaders. Such children

usually have better social skills.

The primary goal of parents and coaches is to help children
find the success in sport they need to make them feel
valued and wanted. Every child can be successful at one
sport or another. Take the time to find the sports that are

right for each child.



Sub questions

Question Number : 156 Question Id : 54592725003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author In the passage discusses:

Options:

1. v Importance of sport for children.
2. # Physical Activity
3. = Ways to reduce stress

4. = Social skills and children

Question Number : 157 Question Id : 54592725004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements Is not true in the context

of the passage?

Options:

1. = Children who are highly active are less likely to suffer

from physical allments.

2. v Sport has no impact on a child’s self-esteem and self-

worth.
3. * Exercise relieves stress.

4, = Sport contributes to psychological and social well-being.

Question Number : 158 Question 1d : 54592725005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following options has not been stated in the

passage as a merit of physical exercise?

Options:

1. = It relieves stress.
2. = |t improves health.
3. v It 1Is a strong social asset.

4. = It improves reading and memorization.

Question Number : 159 Question Id : 54592725006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author say that being good at sports I1s a

strong social asset?

Options:

1. = Every child can be good at one sport or another.

2. % |t helps In establishing and developing peer status and

peer acceptance.

3. = Children would rather be better at sports than In

academic subjects.

4. v It enhances the social skills of children.

Question Number : 160 Question Id : 54592725007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given options, choose the one which is most
nearly similar in meaning to the word ‘stimulate’ as used In

the 1st paragraph, 2nd line in the passage:

Options:

1. v Encourage
2. = Provoke
3. * Moderate
4. = Establish
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Question Number : 161 Question 1d : 54592725008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. % WY + &g
2. v AW + 3T
3. = 3T + 3T
4, * Y+ 3

Question Number : 161 Question 1d : 54592725008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3HegeT HT arer [awse =T gem?

Options:

1. = 39T + 23
2. v 3T + 35T
* 3THT + 3T

3.
4. = 3T+ 387

Question Number : 162 Question Id : 54592725009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel G # 9 <hI--9T 3TeF LTI GHTY AT ITEI 37

Options:

1. v ITENUd

,

2. % Todicdl
3.  ergad
4, = BT

Question Number : 162 Question Id : 54592725009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATR—g # § HIT-O7 JcTATHT TATT FT 3ETEI0T &7

Options:




1. v 3TEAdTed

oy

2. = hSEIEd]
3. * wagdeh

4. % BHET

Question Number : 163 Question 1d : 54592725010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # & TCEH A, DT ATT Dl

Options:

1. = PHER
2. % Sl
3. % g4
4. v THBR

Question Number : 163 Question Id : 54592725010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H @ dcdH ¢lsg T I H|

Options:

1. « FFER

2. % T
3. = &

4.Ji?ﬂw

Question Number : 164 Question Id : 54592725011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AU H UG IUHI T T P

Options:

1. = 3T
2. % 3T
3. v 3T




4, * TG

"

Question Number : 164 Question 1d : 54592725011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRTSE H Y 3UFT T The R

Options:

1. = 37

2. = 3TaNT
3. v 3T

4. = T

Question Number : 165 Question Id : 54592725012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG [T 3R TgTae [haT I i1 Tehd TohaiT e 3idiid 31Tt 572

Options:

1. » QeiepTielch
2. % YA
3. g
4. » QAMD

Question Number : 165 Question Id : 54592725012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ACT foram 3T wereh foram & alet forer foRam & 3feater 3fma
X

Options:

1. %= YdehlToleh
Gy,

2. ® a

3. v H’{Ifl—?[

4. % PR

Question Number : 166 Question Id : 54592725013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT # & “TeryTH” Tehdl S, T TelelIH e g7

Options:

1. « g9q
2. = &HT
3. = U
4. v qq

Question Number : 166 Question Id : 54592725013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFtfofEa & @ ‘e’ v oeg o1 Qeia oeg &7

Options:

1. = I&T

2. % &HT
3. % O
4. v HHA

Question Number : 167 Question 1d : 54592725014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ T eThd & el Teh A T o1 Dl

“ISIgeT qU 7 g g™

Options:

1. = guig
2. v 3T
3. % 3T

4, % AT

Question Number : 167 Question Id : 54592725014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feT 90 g & TolU U eeg &1 Il Hi|

“ISIgerT Ul o &1 Toh

Options:

1. = goarg
2. v Mauaa
3. = Oy

4. » 3oy

Question Number : 168 Question Id : 54592725015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHeT (3TETTd) LAS[E, DT T el

Options:

1. * Teler@r
2. % TeelTy
3. v g
4, % T

Question Number : 168 Question Id : 54592725015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH (3ITT) S FT TAT i

Options:

1. = TSerEgar

2.
3. v Hedlqd
4., & &l

Question Number : 169 Question 1d : 54592725016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZiToT T T TeT! e gl

Options:



1. v PER
2. % 3TdT
3. = Qi
4, YT

Question Number : 169 Question Id : 54592725016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=iTel T UITIATT eleg &l

Options:

1. v FER
2. = 39
3. = ATRON
4. = AT

Question Number : 170 Question Id : 54592725017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sUgaqd -?Iﬁiq hl i< %”@Ql

HETHT g, HEUT & FTET] 2

Options:

1. * 3rUUg
2.v TUg
3. = Taug
4. * UG

Question Number : 170 Question Id : 54592725017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UG Aeq DI Aol Firaw|

HETcHT & FEON & HIETI o

Options:



4. % IAE

Question Number : 171 Question 1d : 54592725018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IGC-GTH h gl 31-HE, DI TIT il

L
Options:

1. * Ferer-=arsr

2. % GR-TEEY

3. * HTYZH-UEHT
4. v TIEATIT-ATEEH

Question Number : 171 Question Id : 54592725018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AST-TIA & Tl HA-HE FT TIA HIIV

SaN-ZaN]

Options:

1. = yaer-foenrer
2. » TX-IEEY

3. = ATETH-Ycal

4. v S{ATSAT-HATEITH

Question Number : 172 Question 1d : 54592725019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T TATIATAT ST gl



Options:

1. = I

2. % IqChl

3. v AT

~ N,

4. = Vg

Question Number : 172 Question Id : 54592725019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dlcalT T JATIGTT oeE &l

Options:

1. = A
2. % Il
3. v SAIcEAT
4. » Tog

Question Number : 173 Question 1d : 54592725020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g SIE[E, T T DI

Options:

1. v gHa8T
2. * gHagY
3. * gaOU
4, » gHATdy

Question Number : 173 Question 1d : 54592725020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

}[& SE T AT HIAT|

Options:

1. v &Ed&Y
2. = BOJET
3. » A9




4. = FEATET

Question Number : 174 Question Id : 54592725021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

hensl T TeTel ¥ SIEE, AT 872

Options:

1. v T
2. « Rt

3. % Wy
4, = TgI

Question Number : 174 Question Id : 54592725021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rl R TSellH 26 AT &7
Options:

1. v 7w

2. = TgehroT

3. % FATE

4, = GgI

Question Number : 175 Question 1d : 54592725022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T AT elTel LTS, DT AT DY

Options:

1.« FEQUAT
2. v UL

3. * 3O
1. * SagE

Question Number : 175 Question 1d : 54592725022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

311G adal drel o6 T ITel Y|

Options:




3. = 3eored
4. = 3T

Question Number : 176 Question 1d : 54592725023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSIT A S 1T e &t HAlTel T €7 gl

Options:

1. » =3I 7 1 T

2. v T & e

3. % I o YSIT hF &1 1T
4, = YT 7 T Tem

Question Number : 176 Question Id : 54592725023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST o alel [T areFg T SAlTeldT T EITT|

Options:

1. = T3 o gre feam|

2. v el o greT &=

3. = TSI o 9ol T el T2
4. = ufe=r & g 2=

Question Number : 177 Question Id : 54592725024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DT IIS[C, GHLAT Tga § Tgdd gIdT g7

Options:

1. = Targ

2. v 31g
3. = Uith




4, % T

Question Number : 177 Question 1d : 54592725024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

leT-HT eeg FHAT Tgadel H T T &7

Options:

1. = oy
2. v 3ig
3. = ofod
4. = T

Question Number : 178 Question Id : 54592725025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT “GH 31T DI TGl i gH“ A el JT Fei-TH T 3T 32

Options:

1. * 3q@w g&T

2. v WA TEY

3. % A TEY

4. = QUEEATAIR [EY

Question Number : 178 Question Id : 54592725025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qTeFT “JH 39T F I8l FI BT1° H il AT FATH FAT
o ¥

Options:

1. = 3cdH g@ﬂr

JH?EIFW

2.
3. % 3T W
4. » TESUaTTh TEY

Question Number : 179 Question Id : 54592725026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ATHTT PleT & [dhad HE g2

Options:

1. =
2. % T
3. % .
4. v d_

Question Number : 179 Question Id : 54592725026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIHT hTel o Tohda A &7

Options:

1. = @
2. ® O

3. % &
4. v dred

Question Number : 180 Question 1d : 54592725027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # ¥ e ared & a1pd Sdrsyl

Options:

1. v el 3 THARAAY Terdl
2. % T ERT TG DI AR T
3. * 31T Tgele e SATU]

4. * BT gRT BedTol Gell SATdT gl

Question Number : 180 Question Id : 54592725027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fraload # & Sqared &7 g S0

Options:

1. v q:eu-l“lqm o TAANTATTT TorET|

2. » {IH @RI @07 I AR 7]



3. % 3ToT Cgolel Tell ST

4. = BHET R FesTel el ST &
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Question Number : 181 Question Id : 54592725028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE&Q Y a1 & TelQ eTepd & TehIL T Td iyl

Options:

1. » Ty G
2. % Yol dTpd




3. v 9Z%d a1%d
4. » UHCTID aTHd

Question Number : 181 Question Id : 54592725028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f&U 30 g & ToIT greFg & Wh hl TIel hIlolT|

I el 3T FErr ST @

Options:

1. » T8 g

2. * lol Iy

3. v ng—d GIETS)
4. » ToSUaraes arey

Question Number : 182 Question 1d : 54592725029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeU QO # & i TelholU Tchdil T TehdT WenTT 370t &, Y SThd Dl II
IS Y

Options:

1. * Jg @A TET & Pl gl

2. g WY AT 7 giae, ATHT gl
3. v Ig QU A UT gl

4, » § TG Pl e 1T 2l

Question Number : 182 Question 1d : 54592725029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu o o & & die [ahed fordlr 7 foRET TR 310E &, U9
gTeRT T TIT IS0

Options:

1.wa-gaa‘rlﬁaﬁr$r§a—or%’|
2. = gg AT AT o gL, JAT &I




3. v I T AT 9= B
4. » Ha @Y Y seqer feam &

Question Number : 183 Question 1d : 54592725030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T aTepd & g AT # JiE g ST Td DI, ITe, earhd
T & AT IS FIE Tal T a2 B

“SiYoTT/3Tgerg Y g @ TelQ/3ITT TelTerd g1 Ts/ats ic Tgi”

Options:

1. = Sfterr

2. v JEGI g & Tely
3. * AN TAeTerd g1 TS
4. * BI5 < Tel

Question Number : 183 Question Id : 54592725030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafalEd arra & for g amer & ffe & 381 w3a Fiiae, i
g JieTfed & aF A5 I FEr w1 aheT R

“SMrell/3rEaeer glel o TAU/3Mel faegrerd wigh 5/w1g Jfe g

Options:

1. % el

2. v 3TTET Bt & ToIw
3. » 3ol TocATed «igl 75
4. » S If& ol

Question Number : 184 Question Id : 54592725031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

- . +
gH 31T T <l AT S| AT WIS a1 ZITI

Options:




1. v G0Y T D T S SATQT
2. % ZHY U Y TZT S ATg1 ATQITI
3. * gH AT U DI T UL g1 35 UTA|

4, % ZW 3T T BT Tg1 Sl

Question Number : 184 Question Id : 54592725031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&H 3TST Td 1 ToT SELA| FT HIgay areFgd geTm|

Options:

1. v BAY T T TaI SaIT ST

2. = FAY TUT T IET S oTol SITEd|
3. * §H 37oT Ud &l J&l W el oa Jidr|
4, = &H 3T T I Ta&T L

Question Number : 185 Question Id : 54592725032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATH BT Dl YL HAT Il g7

Options:

1. v I
2.« ey
3. % UEY
4. * IUATHY

Question Number : 185 Question Id : 54592725032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

grerd hT hdl YTI: T &IdT &7

Options:

1.@3@?3’
2. = Iaag
3. % UgEy




4. = 304

Question Number : 186 Question Id : 54592725033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e &2 T TS @ IR 9H & S1eT 4T g (A), (B), (C) 3R (D) e
T&Q Tq 31 3ITUDT Tg <@HT § Tch a1 & Tehd W § ITRT, WITT, Tl
SIS o Teld UINT IT 34T g I S Ji¢ df Al gl Iic, Jic gt ar

ST @ Thd T Teb WITT H T gHiTI I& W T shHich i ITTT Iqae gl Iic;

T JIeXgd g dl IS JiE T3 DT AT he-

3 Tl AT (A)/FaTe g THUIAddT (B)/®T BRI gid gI(C)/ ®% T
Tel(D)

Options:

1. = A
2. % B
3.v(C
4. %I

Question Number : 186 Question Id : 54592725033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & = UeT S A AN A dier =T & (A), (B), (C) 3K
(D) FHATH BT AT &| IR I§ STAT & Toh T o Tl HET
H SYTRIOT, HTYT, dclall, 2TSET o ITeld WA AT FAT diE Al
HIg IfC O &l g1 IS T gell O g & fohadT T ofmer A
&1 B 38 19T hT SFATH &1 3TURT 3cad &1 I gy

Telfgd & @ g I &l T TFeT -

IH ST 3T (A)EaTe & FFderiishdr (B)/T FROT g E1(C)
/| % T T&I(D)

Options:



1. =

%
O W I

2.
3. ¢
4. = D

Question Number : 187 Question Id : 54592725034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

59 BIISHH DT FATIE X g 3T O MY @iThd Ue-9Hg HaT g2

Options:

1. * QTHATTY® U
2. % JUCEATDY
3. v Uy

4. % GGeRT

Question Number : 187 Question 1d : 54592725034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 FIRIhH I JATCT ¢ &H 39 8T 3TV | IFIhd Te-
THE AT &7

Options:

1. = TTATES Ug
2. % 3Udrerd
3. v UEaY

4, » HETT

.

Question Number : 188 Question 1d : 54592725035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeI¥g T UG g, EUIT, 3T 31TT¢, Hell Dl eepd DL el
AGS] & W gidT gl

Options:

1. * 3e[UTeNIH Fag




2. % LA I g

3. * WY [og
4. v TagAITICATY® eI g

Question Number : 188 Question Id : 54592725035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T<Ieg T YIET §Y, EOUM, 3R 31E Al
e el gTel ¢I&ar o ATY T &

Options:

1. » 3TeqlauH "eg
2. % MGIOUHA eg
3. = UeaAdrdeh g

4. v TOTATCETs "eg

Question Number : 189 Question Id : 54592725036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAlITch “3MT GTHT 3R ManTer=T” @ 379 3

Options:

1. » gad T gl Ty er St SgaT
2. % 3T LS U AT USdT &

3. v S GITT I DR

4, % I[P YA WL AT Wi gid §

Question Number : 189 Question Id : 54592725036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARITFd “3TT9T TTAT AT TolhTaldr” T 3727 Tl

1. = T T 2T iy &) ST sgaer
2. % YT INST 9 &l USdT &

3. v 4T I ST FH
ot M




+ 3T TUTE W gT AT S A &

Question Number : 190 Question Id : 54592725037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tehdr aTendl # TeITATIC, Telegl &1 dgt TIT §3im g2

Options:

1. * ¥ QT H, AT @7 ATgAT &' I& ST a1 i A BT g1 gl
2. v ¥ AU H AT QAT ATgdT gl S9 ST =1 &t A S0 g1 3l
3. » ¥ AT W, AIFerdT, 34T ATGAT &1 S SerdT a1 i ALY BT, TE| 3l
4. » ¥, AT § AT, QAT ATGAT g1 I9 AT 1 i A SIBT g1 3l

Question Number : 190 Question Id : 54592725037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer arrr 3 faranfs fRisel &1 @81 w2 gam &7

Options:

1. = & FAo™T #, ATIAdT ST AEAT &' 39 STT Fellal
AT gToT el §
2. v # AT A AT aa?rnamg“'l 34 2gdT Sellal I,
ﬂﬁ%v_ﬁrﬂé’f%‘l

« # Fe[sT H, HAlTAdT, STl HTE] gl 38 3gdT Fellel T
ﬂf‘fs_tﬂ EERS
. * #, AT A ATSIAT, SFAT UEAT &1 38 AT Feflal
AT gToT el g

Question Number : 191 Question Id : 54592725038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WETaR DT 37&T DY 3

Options:

1. v TRTET 3R IS |1uT & e
2. % TEICT 3N GrTdT WIwT & UTE
3. * Tg-[cr 3T 31TSiT HIUT & T




4, » Tg[cT WTuT o U

Question Number : 191 Question Id : 54592725038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTaY T 3&7T FIY ¢

Options:

1.J%ﬁrm3§wa&w
2. « fg=dr 3 wrEr 9w F U
3. = Tgedl 31X 31ET HINT o 9
4. » T@dr 79T & I

Question Number : 192 Question Id : 54592725039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yeeTaen aUT T AATICETE® DI DS GHT eThd! th [T H Ugdd gid]
gl

Options:

1. v QU ferH
2. % 3 TAUH
3. * 3L TG

4. = TeIau g

Question Number : 192 Question Id : 54592725039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qesTalIeh d2T fAcaaniearass I SIgRy T arear & 37ed &

g e aidT &1

Options:

1. JEI;U‘rrI_E'ITI?T
2. = g uA
3. = 30T X8

4, = Togvor "ieg




Question Number : 193 Question Id : 54592725040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HGTeI “gre et 1Y T YT ar 319 3

Options:

1. % PIAL T BT

2. v YT 3TERT T

3. ® Uch gT¥ DIH T DAl
4, % JGHAL DY DL

Question Number : 193 Question Id : 54592725040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HETAT “BTY I T o FIHAT FT 37T ¢

Options:

1. % pITALT o FLAT
2. v eIl 3eRT glar
3. % Uk BIYT FTH o HLaT

4. » TFHT R Hld]

Question Number : 194 Question Id : 54592725041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

cTeRlTch “SIpehe@IY dt AT it ot Thert” BT 37 3l

Options:

1. = T[UrEIT g1 T[0T <t U U el g
2. » TEATd H IS uieerd Tg!

3. * T T U giHT

4. v JNIAT @ IR agg g gl

Question Number : 194 Question Id : 54592725041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NI “eTFehd@ T TeFhl Hall T TFhd” FT 37T §

Options:

1. = J0T@TA g1 0N T RE Ygdlel FIT §




2. «» ufy & 1 aRade a8

3. % HaT TUeh HATA Bl
4. v ARFIAT F HTAN TET YT el

Question Number : 195 Question Id : 54592725042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

r Tauddrde Sree @ st g Teig @1 YT gIdT 87

Options:

1. » forgwaie
2. % e[y T
3. v TdH

4. = quf fam

Question Number : 195 Question Id : 54592725042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 Taudardes eeel & & R RIeg FT u=AeT 21T &7

Options:

1. = faemate
2. = 3eq &UH
3. v JioTh

4. = quT fouA

Sub-Section Number: 2
Sub-Section 1d: 5459271488
Question Shuffling Allowed : Yes

Question Id : 54592725043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S &g T JUTSd Merter @l Uie: T 3T WA & Iqa¥ &gl

TG FigPpider ol & & # T A IR & FH[ad W ool &4 g,
Wv@wﬁmaﬁaﬁwmﬁ@ﬂﬁﬁsﬁmwmﬂﬁm
ch JTCSl el TEI STUTAT g1 of FHTAT GTEHT DI IPUCAH €F HRAY hl
AT H 28 g1 Ig TYEHIAT hlel-YaTg H dgend TS EGT a4l
USITTAdT & gIEen SIMEH-UT, gaNT 3R GH-ad & &7 H Yidthield 3l
It AYETIAT T HeUT UTEIH hr ursiter Tepiiit Aqeld=T ¥ O g,
Gﬁ@ﬁ%&ﬁﬁﬁﬂfﬂﬁﬂﬂﬁﬂﬁﬂwiﬁ&mﬁﬁkmmﬂ a7
ST g1 S HILdery @i AYEIAT A 1IdT 51 g 3T 3EioTy
IAUGETY DT & JHEPT Tehiei AT HI e g1 g1 WIRA &l AYCHH
AT T G SR g1 37U SITTHLH I AT DT FehalT gl

Sub questions

Question Number : 196 Question Id : 54592725044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUYd eI AT FellTeieh IuZehd <Tieh gr FedT 3l
Options:

1. v TG 3R WIRAIF AT
2. % AYCIIT DT Ge[aT ey
3. * Y Y 37 3ITqH H

4. * Yol 3R UTEIH Pl A

Question Number : 197 Question 1d : 54592725045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TGATY th GigPpidd o< Pl FelTdth Jelet@-1g erudr gl

1. = WTTqLiTerdr
2. % WL MEATAATE
3. * dSATI=IehdT Sl TeEdr

4. v YATIH T =TT T THEE

Question Number : 198 Question Id : 54592725046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



“HRAIg AYGCHAAT” i UL gl ST FehdT gl

Options:

1. * Midwmare o

2. v AT &
3. * INITTHTS Pl

4, = YT Serdr &r

Question Number : 199 Question 1d : 54592725047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ut YT DY TATAY U gl AT g HdiTeh ag:

Options:

1. » TRYUR® 3MMH-US hl HZd el &
2.« iy & Tereemy w@dr §

3. * JUMALETE, P dGMET T g

4. v AU STA-HTT Dl gl T el 2T g

Question Number : 200 Question Id : 54592725048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

WA AYCIIT ST AT &l AT § pdiih ag:

1. v ATGTIAT B JATTA 3

2. * EANT U ATLTIT &

3. » a9 @ geltepia 2t 8

4. » GigPIdd TGl UL ol TgI &l g

Question Id : 54592725043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



o o o 3rufsa e &t gfEsv T dest F Ieaw i

Tdlogalrel HERidh T & ® H Y4 3N ITqd & GHead W
ool & &, Wed UREA AT HT THR Fd gO ol Iegial
39 Hifaes wertaeliedar & 3meet T 8T J9aRT & F gHeaT
HEAT T SchoedH & HARATY T TSIl H G&d &1 I8
ISEIAT hTel-TaTg H g 35 36T AldA-Taar &
gllceh 3MTETel-elel, HgIIeT 3N THeaT & &7 H Uidhield &
SalehT ITSEIIAT hl hedall UTeH =hl NVOTLTel TehldiT ISeade
O foieat &, S 3uTaden &7 [GTATT T TSI SgaldHTe bl
HHAGIE FT & THAS T STl &1 TEIA: ARLATY T
ISETdT AT 87 § 3R 5970 oIS ddell 8 39T
forfere AT off farer o1éT &1 TR 1 TSeA ATl HT TR
FARL B 3T MTcHIH I TRATT T ThdT &l

Sub questions

Question Number : 196 Question 1d : 54592725044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SYYF IEIT T FATF 3UGFd F &7 Tehell &

Options:

1. v Tdleg 3 ARG TSE—IAT
2. % ISEIAT T ol TG&Y
3. = IS¢ gA 3N 3HcH 9H
4. = g AT 9RGH T HHead

Question Number : 197 Question Id : 54592725045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TdlogalTl & HERIcTeh T HT HATAR Seol@eld TATT

Options:




« TITTaelTerar
« AR 3TeATcATIS
dATTARAT <hT THEIT

ol
#®

v eITcH Ud QAT T GH«a

Question Number : 198 Question 1d : 54592725046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“URIT TSCIAAT Y TATT haT oI Fohdl &l

Options:

1. = HiTderare T

2. v HEAAT 1

3. = EATcHAIG hl

4, » VETTReTdT hT

Question Number : 199 Question Id : 54592725047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IeTAT ITScAdelT I SHTIT TRl hal T & Flich d8:

Options:

1. = GREINR 3ETeI-UaleT ! Fgcd oal &
2. % NYUT # Toegrd TEdrl ©

3. = 3qfaiderarg T g&ar v &

4. v TSI SAGeT-ATel HT gig T &l T §

Question Number : 200 Question Id : 54592725048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAT TSEIAAT HoaISeld el i HaUT § Al ag:

Options:

1. v ATAARIAT hT TATATAT &
2. = FEIET U TR &




3. « faamer Y wepfay 2 &
4. = HERIAH dedl W T T adl &




